IS ughd

Number System

Find out the unit digit in the following expres-
sion ?

frfafen o 3R &1 si% Fn e ?

31 x 37 36 x 46 % 89

(A) 2 (B) 8

(€6 (D) 1

Find out the unit digit in the following expres-
sion ?

freferiam # S 1 3 e ?

91 x93 x 95 x 97 x 98

{A) 2 (B)3

(€0 (D)4

Find out the unit digit in the Product of all odd
prime numbers.

[T o 79 Sl o AT %1 ST L% =
i ?
(A) 5
(€) 9

(B)2
(Dy4

Find out the unit digit in the following expres-
sion,

584 x 328,x 547 x 618 H T=[ &et T L 7
(A) 4 (B) 8

(€)2 (D)5

Find out thé unit digit in the product of all the
even numbers.

[l TH HEAIH Hl SHR ok Skl & AR H 3 B
o T e 2

(A} 5 (B) 2

(€0 (D) 4

Find out the unit digit in 4!
A H THE w IH T

(A) 8 (B) 5
€0 (D) 4

10.

11.

12.

13.

Find out the unit digit in 51
51 H THE F F T FH 7

()0 (B) 5
(€ 2 (D) 4

Find out the unit digit in {67 36)*°°7
(6736757 3 3 o 5> WAt 2

(A) 2 (B) 6

(C) 4 (D) 8

Find out thé unit'digit in (67354)4%%
(67354) 123 & THE &1 i 574 B ?

(A) 8 (B)'¢

(€) 6 (D) S

Fihd out the unit digit in (3259)'?1%
(8259)121* & T w1 o FW AL 7

(A) 9 (B) 3

€7 (D)1

Find out the unit digit in the following expres-
sion {2137)7%°

(2137)75% T THE I oFF Jrq F 2

(A) 9 (B) 7

(€) 3 (D)5

Find out the unit digit in (13)20%3
(13)2008 T 3R I 3F AT R ?

(A) 3 B)9

€)1 (D)7

Find out the unit digit in (22)*
(22)% # TR w1 % I W ?

(A) 8 (B) 2

(€6 (D) 4
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14.

15.

16.

17.

18.

19.

20.

Mother's i@ « FEMAHd

Find out the unit digit in —

THE T &AH T HL —

(23)2 x (24)% x (26)%% x (27)2% x (25)%
(A) 2 (B) 4

o (D)5

Find out the unit digit in —

TFEE 3 T HL —
[235}215 + (314]326 + (6736]2L3 + (3167)L12
(A) 2 (B} 0
(€) 8 (D)5

55 48
Find out the unit digit in =7 + 6F
12°5 g% ) ‘ }
31 TgE T TR H AH W E2%
(A) 2 (B)4
o (D)6

Find cut the unit digit in the following
expression —

(3694)179% x (615)*17 x (841)%4!
THE T SF I L -
(A) S
(C) 4

(B) 3
(D).0

Find gut theswunit digit in the (7% — 35

(793~ 3%%) § 3PIE, 1 S gl T4 7
(A)Z (B)S
€4 (D) Q

Find out the unit digit in the -
THE T TN F —

[17}1999 + (11]1999 _ (7]1999
(A) O (B) 1
(C) 2 (D) 7

Find out the unit digit in the 1111
111 t § E%TE =1 3% I[ FL?
(A) O B 1
(€) 5 (D)3

21.

22,

23.

24,

25.

26.

Find out the unit digit in the following expres-
sion —
Afem i 7 =L -
19+2%+3%+4°% +99°
(B) 1
(D) 5

(A) O
(C) 2

Find out the unit digit in product of all prime
numbers in between 1 and 99999,

1 ¥ 99999 % = =l Tl 219+ A&l F w5
IR I 3k J1d R ?
(A)9
(GRY
(D} None of these JETH & TS T

(B) 7

The set of all the prime numbers which are
greater then 2 but legs than 222, Find the unit

digit in the prodfict/of the set ?

ST Tt STIEEEEIE] & WU SR ¥ S ol
222 W FH © o TR H T I 3T T 7

(A4 (B) 5

(€) O (D) T75 ¥ =E el

Find out the unit digit in the —

w5 0 ST ol Hh T —

1x2X3x4x0xbXT7x8X9Ix10
100

(A)7
€ 8
(D} None of these /378 | %1% &l

(B) 9

Find out the unit digit in the —

=Tk H TS AT STF I HE —

8889235! + 22292351+ 6662359! + 999999991
(A) 5 (B)9

C) 3

(D} None of these /378 | %1% &l

What is last number in the given expression —
fore o T e sife o $—
(AN + 202+ (39 + (4Nt + . + (100"
(A) 4 (B) 5
(C) 6 (D) 7
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27.

28.

29,

30.

31.

32.

33.

Mother's Arithmetic « Number System

If the unit digit in (12345k)™ is 6.Then find
the valu of K

(12345K) HEFE R IAF 68, WK FAATE —
(A} 8 (B) 6
{C) 2

(D) All of these /3T @I

The last number in the expression

THIE W AT 7 T -

4 +92+4Zi+94+45+96+ .... +4‘J‘}+ 91[}!]
()0 (B) 3

(€5

(D) None of these /378 ® FE Tl

Find out the unit digit in the simplified form

of [(25 1) +21)™ - (106)® +(705™ - 16" +259].

(25172 +{21F-(106/* + (705 -16* +259)]

F TIEFT B H T F oI TR 7
(A) 1 (B) 6
(C) 4 (D)5

The unit digit of 71 x 72 x ...x79 is
71 X 72 % ,...x79 BT IHE Jh 7Y ?
(A) O (B) 4

(C) 6 (D)7

In 13799 96%x 996, the tenth place digitis?
13799 % 96x 996 | LTS &1 & € |

(A) 3 (B) 4

(€5 (D) 8

In 596 x 17394 x 15353 x 296 x 427, the tenth
place digit is?

596 x 17394 % 15353 x 296 x 427 H TEE &l 3iF
Bl
(A) 1
(€)3

(B) 2
(D)5

In 357 x 265 x 239 x 1352, the last two digits
are?

357 x 265 x 239 x 1352 =+ 3ifaq 1 o1 I |
(A) 20 (B) 33

(C) 40 (D) 45

34.

35.

36.

37.

38.

39.

40.

Find umnit digit in (11)". {12)2 (13)%. (14)". (15)°.
(16).

(11)'. (12)% (13P. (14)*. (15)%. (16)° =1 ThE 9%
A F |
(A) 3
(C) 2

(B) O
(D)5

Find the number of Zeros at the end of the
product —

TUFETS H Y Hi T T Fife —

12 %27 %63 x 113 = 1250 = 24 x 630

{A) 2 (B) 6

(C) 4 (D) 8

Find the number of highést power ofi3,in 270!t
2701 § 3 & I=a0H HEE =TT ST 2

{A) 134 (B) 130

{C) 140 (D) 135

Find the number of,highest power of 7 in 777!
V7718 7 N FeEaE AW W [ S

(A) 128 (B) 130

(C} 126 (D} 125

Find the number of Zeros at the end of 101!
1011 5 =l =1 W& 1 it ?

(A) 20 (B) 22

(C) 24 (D) 25

Find the number of Zeros at the end of the
given product

15 x 25% 35 ... 323
(A) 35 (B) 40
(C) 36 (D) 32

Find the number of Zeros at the end of the
given expression?
a=13 b=2%c=3° ...... ,Zz=26% axbxcxd

(A) 112
(C) 118

(B) 110
(D) 115
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41.

42,

43.

44.

47.

Mother's i@ « FEMAHd

Find the number of Zeros at the end of 378!
378! ¥ I &t HEA Jid Hitey 7

(A) 93 (B) 90

(C) 75 (D) 81

Find the number of Zeres at the end of 10001
1000! T Ikl = HEA T Hifay ?

(A) 200 (B) 249

(C) 248 (D) 250

Find the number of Zeros at the end of the
product —

[Aehi i T T HITY —
12x5%x15x24%x 13 x30x%x75
(A) 4 (B) 5

(€) 2 (D)3

Find the number of Zeros at the end of the

product —

Y[ ol AT 19 HITaT —
1Tx3x5x7x9x11 ... 99 x 101
(A) 24 {B) 5

(C) 2 (D)0

Find the number of Zeros at the end{of the
product —

T[RRI ot TEAT 10 i1 =

1401 x 5% 15 x 22 % 11 X 44 X 185
(A) 34 (B) 85

()86 (D) 3%

Find the nimber of Zeros at the end of the
praduct—

Y[R T HEA F e -
251 % 324 451
(A) 10
(C) 22

(B) 23
(D) 7

Find the number of Zeros at the end of the
product —

Y[R %t TEAT T HifeT —

39 x 41 x 57 ... 491
(A) 225 (B) 250
(C) 240 (D) 245

48.

49,

50.

S1.

52.

53.

54.

Find the total numbers from 100 to 200, which
are neither divisible by 3 nor by 5.

100 9 200 7 Tt fra i S ESHAR 3 TTE 5|
Rl ?

(A) Answer

Find the number of Zeros at the end of the

product -

I T HEA A1 T —

11! W 22I * 331 e 44! ..... 10101

(A) 51 (B) 10

(C) 5t + 101 (D] None of these

Find the number of Zeras at the end of the
product -

I | HEA T il —

22 x 5+ x 42 x 10? x 6008 1512 % 8lhx 2016 x 1()L3
x 2520

(A} 8O [B) 90

(C) 94 (D) 100

Find the number of Zeras at the end of the
product—

TR ST T —

3200+ 1000+ 40000 + 32000 + 15000
(A) 15 (B) 13

(C) 2 (D)3

Find the number of Zeros at the end of the
product -

T F S T -

20 x 40 x 7600 x 600 x 300 x 1000

(A 11 (B) 10

(C) 2 (D)3

Find the number of Zeros —

T F S T -

100! + 2001

(A) 24 (B) 25

(C) 49 (D] None of these
Find the number of Zeros —

TR R T W T -

100! x 2001

(A) 49 (B) 24

(C) 73 (D] None of these
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55.

56.

57.

58,

59.

61.

Mother's Arithmetic « Number System

Find the number of Zeros -
T[] 1 HEAT A AT —

2222 * 5!’13!’1
(A) 222 (B) 555
(C) 777 (D) 333

Find the number of Zeros at the end of the
expression -

S| % HEA] F1A R —

10+ 100+ 1000+ ... + 100000000

(A) & (B) 28

(€)o (D)1

Find the number of Zeros at the end of the
product —

T Wi AT T RIT —
2].x52x23x54X25X56X27X53X2‘3X510
{A) 30 (B) 25

(C) 55 (D) 50

Find the number of Zeros at the end of the
expression -

T[] 1 HEAT A AT —

(3|23 — 3t _ 3121) (2121 — 210 _ 2119)

(A) 1 (B)O

(C) 119 (D) 120

Find the number of Zeros at the end aof the
given expregsion -

] Tl EE S SRS —

(8L23 _ 8122 _ 8L2L} (3223 B 3222 _ 322].}

(A) 1 (B)2

(€)o (D) 3

Find number of[Zeros i the end of 129 x 220 x
320% 420 A x38%0

120 x 920 x 3Bg0 »382 & HAq 7 =
Eakareziwduill

(A) 160 (B) 180

{C) 150 (D) 120

Find number of zeros in the end of

1P % 2% % 3% i, x2678,

13 X 27 % 3% i x26% % a9 H Y=
HEATEA |

(A) 100 (B) 112

(C) 125 (D) 128

62,

63,

64.

67,

68.

The number 2, 4, 6, 8.............. 98, 100 are
multiplied together. The number of zeros at
the end of the product must be :

& 2, 4, 6, 8.....98, 100 1 qTER 70T T 1 &,
@ TUTEE F $i § I it e TR gei 2

(A) 13 (B) 12

(Cy 11 (D) 10

Number of zeros in theend of (1'x 22x 3¥x 4+
X iieiiiiiins x Q8% x §gg* x 10012

(1'% 22x 33X 4%x ... x 08% x GO x 100'%)
¥ TOES § SR R HEAT I

(A) 1200 (B) 1300

(C) 1500 (D) 1600

Find the total number of factors of 240 —
240 F UFEE! 1 T HEA T FL -

{A) 20 (B) 25

(C) 15 (D) 22

Find the total numberof fagtors of 1420 ?
1420 & THE S F T I 2

(A) 12 (B) 13

(C) 14 (D) 15

Find the total number of Prime factors in the
given expression ?

Tk § 19 TOFE Sl i AT T 2

(30]2{1 w (25)31 w [12)2."‘.

(A) 249 (B) 250

(C) 255 (D) 260

Find the total number of Prime factors in the
given expression ?

ek H A OBl T S 71T Y ?

(30]15 e [22)11 » (15)24

(A) 110 (B) 115
(C) 120 (D) 125
Is divisible by —

formar grT faenfsie gt —

(271 + 272 + 273 + 274]

(A) O (B) 10
(C) 11 (D) 13
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69.

70.

71.

72.

73.

Mother's i@ « FEMAHd

A four digit number is formed repeating two
digits two times. Like 25235, 3232 etc. such

type of number always divisible by ?

T TR 37 1 W 511 2 &1 w1 g s I £ |
S 2525, 3232 =% | 3H YR g fRus goia
Terista gl ?
(A) 7

()12

(D) 3 &1 Fi Tow BT ANET AT

(B) 11

Which of the follwoing number will also divide
a 6 digit number which is in the sequence of

xyxyxy, (Where 1 £x 9,1 <y < 0),

7= o & FH-5 5% 6 &Ah1 i W= F1 The faafem
R | S 50 R s xyxvxy HE' (TRl € x <
9, 1<y=<9})?
(A) 1010
(C)11011

(B) 10101
(D) 11010

If a number n is whole number, which is
greater than 1. then n? (n? -1) is always divis-
ible by ?

7T FIE HEA n U W ¥ W UF W IS E | T nd (02
1) g=en fassa s |
(A) 16

(C) 10

B 12
(D) 8

In theghracess of divisionh, divisor is 10 fimes
of guotient and 5 times of remainder. If re-
mainder ig 46, then dividend willlbe ?
MR, TR HIstR, TR sl O 71 ¥ 3 viowa
5 T | AR ERG 46 T, T A § ?

(A) 5382 (B) 5290

(C) 5336 (D) 5330

If a number is divided by 102, the remainder
is obtained 91. If the same number is divided
by 17, then remainder will be ?

Ffg Uk HeA sl 102 € foifaa T s €, 1 3w
91 9T BT S | G 36 T I 17 ¥ WM S W IHA
FATEAT ?
(A)6
(€) 0

(B) 11
(D)2

74.

75.

76.

T,

78.

When a number is divided by 899, remainder
is obtained 63. If same number is divided by

29, then remainder will be ?

T SN F 899 F 9 T W UK VTEA 63 ¥ A% 35
AT T 29 H W1 S 9L FURS 1 GAT 7

(A) 10 (B) 5

(€) 4 (D) 2

When a number is divided by 52, remainder
is obtained 45. If the same number is divided

by 13, the remainder ?

UF e H 52 T 9T S WU INEA 45 , A 35
T 13 § 9T 25 R 9T 6T 9 E

(A) 5 (B) 6

(C) 12 (D)2

When a number is successively divided by 4
and 5. The remainder 'obtained &re 1 and 4
respectively. wheén: the same number,is suc-
cessively divided by 5 and 4, the remainder
obtained are — %

Uk GEAl o1 STRITE 4 #K 5§ oW 94 W U I9he
e 1181k 2, 55 e F =T 5 el 4 d m &
R SEF S S0 7
A2, 3

(Cr2, 1

(B) 3,4
D) 3, 2

A least number which when divide by 2, 3 and
5 successively, the remainder obtained are 1,
2 and 3 respectively, If the same number is

divided by 7, the remainder obtained is -

U AaH Hew (99 2, 3 3R 5 H IWW 9T 3 W
IR L 1, 2 7 3 W g ¥ | AafE 6 S w7
T W 27 TR AT ITF FT F0° 2

(A) 2 (B) 3

(C) 4 (D) 5

Find the least number which when divided by
4, 5 and 6 successively, the remainder ob-
tained are 2, 1 and 1 respectively. If the se-
quence of successive divisors is reversed, the

remeinder obtained are ?

o =0T HeA 919 it f5E 4, 5 31K 6 | ST 9w
T W IR 2, 1 @R 1 W™ e g, At 9o &
age fem < a1 I9Ret o e off = |
(A)2,4and /&R0 (B) 1,2and/ &R0
(C)1,1and/3R2 (D)2, 1and/ 34
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79.

80.

81.

82.

83.

84.

85.

Mother's Arithmetic « Number System

Which of the following number does not com-
pletely divide {29)% + (17)%7 ?

Firen 2 -l < (20)77 + (17)77 1 e Fanor
TE T ?
(A) 2

{C) 23

(B) 11
(D) 46

Which of the following number does not com-
pletely divide (3% + 7% 2

= o A w4 g (3% + 759 EﬁTq;ﬂiﬁ framfag ==
T |
(A) 4
(C)17

(B) 52
(D) 26

{(49)'" — 1} is completely divisible by ?
((49)'5 — 1) quia; forsl famifag i o

{A) 50 B} 51

(C) 29 D)8

Which of the following number does not com-
pletely divide 23™ - 1024 ?

=1 F 9 =i 2310 — 1024 =i ia: faafsa Tt o

(A} 3 (B) 5
(€7 (D) 4
is divisible by -

4 fowfaa & -

(325 + 326 4327 + 373

(A) 11 B} 16
(C) 25 (D} 30

A numberdivided by 6, the remainder obtained
is 3. When the sguare of same number divided

by 6, the remainder obtained is ?

T T 1 S 6 T fE ST # 4 e 3 9T g
¥, IO 99 T F T H 6 T 9FT 2 A WAFS AT 2
(A) 0 (B) 1

(C) 2 (D)3

If n is a integer, then (n® - n} is always divis-
ible by ?

e 0 TR &, T (n? — n) T e e 2 2
(A) 4 (B) 5

(C) 6 (D)7

86.

87.

88.

89.

90.

91.

92,

93.

(10n — 1) is always divisible by 11, if
(10" — 1) W&= 119 foue 2, < —

(A) n is any number / n F IR FT H A

(B) n is an odd number,/ n TF foum Hem &
(C) n is an even no./ n TF TH HEAT &I

(D) n is a multiple of 11,/ n, 11 F IO &

By which number (49]15—1 is divisible ?
(49)"-1 e Ween & yoia; fasifaa & 2

{A)} 50 (B) 51

{C) 29 (D) &

If 9“-1 1l is divided by 8, the remainder is
9°_11 =1 7z 8% v fao T s v FTm—
(A) O (B) 1

(C) 6 (D)3

When 2% is divided &y 9, the remainder, will
be?

2% W 9 T G qL S BT |

(A)7 (B) 8

(€S () 6

When 53" is divided by 500, the remainder will
be?

537 H 500/ T < W AFeT BT 7

(A} 125 B)1

(€121 (D) 4

Whennumber 1234567891011 1213 14
15 is divided by 16, the remainder will bhe?
1234567891011121314 155 16 aman

T IO B 7

(A) 6 (B)S

(€7 (D) 8

When number 12345 ... (76 digits)
is divided by 16, the remainder will be?
12345 i 76 $® H 16 T 9 1 W
SrTRet Fm 2

(A} 7 (B)O

(Ci6 (D) 2

When number x? + 7x+ 15 is divided by (x - 3),
the remainder will be?

¢+ 7x+ 15 ° x — 5 T 47 29 T IR BN

{A) 25 (B) 30

{C) 75 (D) 45
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94,

95.

96.

97.

98,

99,

Mother's i@ « FEMAHd

When number x* + 31 is divided by x*+1, the
remainder will be?

x'0+ 31 H x+1 T AR 7 T IAHA BT |

(A) 30 (B) 32

(C) 16 (D) 48

When 335 is added to 5A7, the result is 8B2,
8B2 is divisible by 3. What is the largest pos-
sible value of A ?

T 335 F1 5A7 T SiIg A ¥ T v 8B2 WE 2
#1882 Hed 3 W fa=a & 1 A 1 Hewm T 9 o
7
(A) 8
1

(B) 5
(D) 4

If the sum of the digits of any integer lying
between 100 and 1000 is subtracted from the
number itself, the result is always be:

A7 100 R 1000 3 d@i= & foret qoiies & i =1 4w,
e § gl 4 9l 9t wed g g ?

(A) divisible by 6/6 & famfam

(B) divisible by 2/2 ¥ faunfam

(C) divisible by 9/ 9 % fasifsm

(D) divisible by 5/ 5 % fawfsa

When (43 x 83) is divided by 214 theremain:
der obtained is ?

S 43 x 88l 21 4 T e S © 9= ket
g ?

(A)l (B)4

(C)20 (D)17
130+147

The remainder of %is ;

130+147 4. - -

T H e B8R 7

(A) 2 B)9

€3 (D)5

When 127 x 139 x 12653 x 79 x 18769 is di-
vided by 5, the remainder obrained is ?

127 % 139 x 12653 x 79 x 18769 T 5§ 934 W
YT B —
(A) 1
(€0

(B) 2
(D) 4

100.

101,

102,

103.

104.

105.

106.

When 127 + 139 + 12653 + 79 +18769 is di-
vided by 5, the remainder obtained is ?

127 + 139 + 12653 + 79 +18769 = 5 4 T
A T IS A TR 2
(A) 2
€)1

(B) 3
(D) 4

When (1750 + 1748 + 1752 + 70 + 35) is di-
vided by 5, the remainder obtained is ?

T (1750 + 1748 + 1752 + 70 + 35) T 17 ¥ farfom
T ¥ T IR 39 g 2

(A) 1 (B) O

(C) 16 (D) 2

When [1+[2+[3+|4+ 5. + 1000 is divided
by 10, the remaindeeriobtained is ?

T 1 +]|2+|3+[4+]5..... 4100 =10 & fashsa

T < 2 9 Yol T BT
(A) 3 (B) 1
(€2 (D) o

When |1+ 2+ [3+(4+....... +[1000 is divided
by 12, theé remginder pbtained is ?

1+ [2ESAA +|1000 #7 12 § fAstem

o STl & W SR A B Y
(A)'® (B) 5
(C) 9 (D) 7
Find the last two digit in the product of -
oA | #HH & 3 W w2
39 x 55 x 57 x 24 x 13872 « 9871
(A)2and O (B) land O
(C)land 1 (D) 2 and 2

. (25)48
The remainder of 13 7

95 15 .
% T 3Tl I L 7
(A) 12 (B) 11
(€) 2 (D) 1
36 13
The remainder of ( 7) ?
36)" .

% I IHE I o 2
(A) 1 (B)&
(C) 2 (D) 5
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107.

108.

109.

110.

111,

112.

113.

Mother's Arithmetic « Number System

When 22 is divided by 9, the remainder ob-
tained is ?

5@ 22 w1 9 | fawfea e S g am e 9 a2
a1 (B) 2

)8 (Dy6

When (35)* is divided by 9 the remainder ob-
tained is ?

@ (35)% ® 9 ¥ fgwfan foe=n = § 79 Sawer w4
B ?
(A) 7
(€) 2

(B) 8
D} 1

When 7% is divided by 400, the remainder ob-
tained is ?

@ 710 Fw 400 | faufem e sm € = Sowe =
B ?
(A) 1
(€) 2

(B) 6
(D} 3

When 2* is divided by 33, the remainder ob-
tained is ?

e 22 %1 33 ¥ forier T S & 791 SIohe F1 B2
(A) 29 B) 7,

(€) 4 D) 2

When 3% iggldivided by 82, the remainderiob-
tained is ?

= 357 @Rl 82 U TS Fld & dl 2R 1 6N 7
(A) 27 (B) 55

(C) 85 Dy17

When 1177 ig divided by 7, the remainder ob-
tained is ?
1177 i 7 | fouheg 37 W Yo% 9 FL 7

(A) 2 (B) 3

(C) 5 (D) 1

(32)" is divided by 7, the remainder ob-
tained is ?

(32%)"7 =1 7 & fawifem e3 w Sohet 39 ¢ 2

(A) 4 (B)3

€5 (D) 2

114.

115.

116.

117.

118.

119.

[48 + (62)!'7] is divided by 9, the remainder
obtained is ?

[48 + (62)117] =1 9 | TaIfa =t T et 1 SR 7
(A)7 (B)2

(C) 4 (D) 5

is divisible by ?

X2f)_x26_x23 +1

(A} (x— 1), but not (x+ 1)/
(x - 1) oifF (x + 1) T&

(B) (x+ 1), butnot (x- 1)/
(x + 1) TR (x — 1) 7€

{C] Both (x + 1) and {x— 1)#
(x+ 1) &R (x— 1) s

(D) Neither [x + 1) nor [xe=l]/
T (x + 1) 3R T Sl f 1) TS

If {x +1]) anddlx —1}) are the factor§ of polyno-
mial ax® + bx® +/3x + 5, then the value of a and

b?

=g (X +\1) IR (x - 1) Tg"ax® + bx? + 3x + 5 F
TEE &, THa S b &1 79 79 2
(A)a=-2{b=-3 (Bja=3,b=5
€a=2"b=3 (D)a=-3,b=-5

When x? — 7x + 15 is divided by (x — 3), the
remainder obtained is ?

T x?— 7x + 15 F x — 3 H owitem frm s %, 79
SR T w2

(A) 3 B)1
(C)o (D)2
x°' + 16 is divided by (x +1), the remainder ob-

tained is ?
X7 + 16 T x +1 T YT 25 W IMFA 09 FI 7

(A) 1 (B) 2

{10 (D) 15

TETTTT iianinns 129 times is divided by 37, the
remainder obtained is ?

TTTTTT e, 129 FX = 37 T famiad = W Iwe
FTFEN 2

(A} O (B) 37

{1 (D) 36
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120,

121,

122,

123,

124,

125.

126.

Mother's i@ « FEMAHd

444444444 divided by 13, the remainder ab-
tained is ?

T 444444444 F 13 T TNl F0 € a9 T9% T4
g ?

(A) 11 (B) 2
©) 0 (D) 4
When 10"+ 102+ 10+ ..., +10% + 10" g

divided by 6, the remainder obtained is
10t + 102 + 10% + +10% + 10 ®H 6 H

Tanfsa F ™ yoFe F 0 B 2
(A) 2 B)4
(S/RY {D) 1

When 10"+ 102+ 10° + ....... + 107 ig divided by
6, the remainder abtained is ?

10"+ 102+ 103+ ..., +10% F1 6 | fgmfam FH =/
RS T BN ?
(A) 4

(€) 2

B} >
(D) 1

When 75777 is divided by 37, the remainder
obtained is ?

757575 i 37 ® e =3 W 9awd 9 9 2
(A) 1 (B) 36
)3 (D)7

When 4177 is dividediby 17, theremainder ob-
tained is ?

wa 417748 17 | Taaifem fen s &, 79 e T
T2
(A2
(€16

(B} 1
{D) &

When 1234567891011121314 isdivided bv 8, the
remainder obtained 1s ?

1234567891011121314 =1 8 A faufom +=9 W
S FL R 2
(A) 4
(€) 6

(B) 2
(D) 3

When 1234 ....... 41 digits, is divided by 8, the
remainder obtained is ?

1234 ....... 41 %] 9% Fl 8 ¥ famiad += | 3w
T L ?
(A) 1
(€) 3

(B) 2
(D) 4

127,

128.

129,

130.

131.

132,

When [1+[2+[3+([4 ... |100, is divided by 5,
the remainder obtained is ?

SE L +]2+[3+[4 ... [100 =1 5 | fawitem fara
ST 2, T T S H 2

(A) O (B) 1

(€) 2 (D)3

When [1+2+[3+[4 .......... |50 is divided by 12,
the remainder cobtained is ?

SE1+2+[3+]4 oo |50 =t 12 ¥ fawifea fean
ST, T TR T 2

(A)2 (B} 8

(C) 7 (D)9

When 520 is divided by"126, the temainder
obtained is ?

@ 52450 gl 126 H TaHIsa o Sl @9 wowe I
i ?

(A) 5
(€) 125

(B) 25
D) 1

Wh en 10"+710%2 + 10* + ... + 101900+ 10109 jg
divided by 6, the remainder obtained is ?

§4 101+ 102+ 10% + ... 10400+ 1000 6 F
o foren ST €, 99 TS I B ?

(A) 4 (B)6
(C) 2 (D) 3

When 666666 ........... 134 times, is divided by
13, the remainder obtained is ?

T 666666 ......... 134 SRF! 13 T faenfsm foran s
¥, T IRl I 7

(A) 1 (B)3

(C) 11 (D) 9

When 777777 ............ 363 times, is divided by
11, the remainder obtained is ?
TATTTTTT cverrerannns 363 AR F! 11 ¥ faufeaa fF=n
I 2, 9 ATF T FL 2

(A) 10 (B) 7

()3 D) &
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133.

134.

135.

136.

137.

138.

139.

Mother's Arithmetic « Number System

When 7% ig divided by 2400, the remainder
obtained is ?

79% T 2400 & faniaa & 7 AT 1 T 2
(A) 1 (B) 49
(C) 343 (D)7

When 54!?* is divided by 17, the remainder
obtained is ?

5412+ 37 17 9 fawlsa =6 T 39w 701 g ?
{A) 4 (B) 5
{C) 3 (D) 15

When (3232 )32 is divided by 9, the remainder
obtained is ?

s (32% )" =19 | fatfom fefen T #, T Yot 7

H?

(A) 4 (B) 7

(€2 (D) 1

(3 2 )33 divided by 7, the reamainder obtained
is ?

(324)" =1 7 @ fawnfora @ T vtk o 2 2

(A) 5 (B) 4

(€6 (D)2

When 333%% + 555%9 ig divided by 8, the re-

mainder obtdined is ?

e 333555 + 55589 &I, 8 T fAuIRea AT et ¢, 09
e Ak 7
(A) O

(C) 4

(B) 2
(DS

(97'°-1024) igleompletely divisible by the num-
ber

(9710-1024) =i TreAfates § 4 forad goie: fomfaa & 2
(A) 12 (B) 13

(C) 11 (D) 17

If (x — 2) is a factor of (x* + 34x — 2q), then the
value of g ?

AT (x - 2), (x2 + 3gx ~ 2q) T TH PEAES T, T q F
T T E —
(A) 2

(€) -1

(B) - 2
D)1

140.

141.

142,

143.

144,

145.

146.

For what value of K, {x— 1) is a factor of {x* - KJ.
k % Toe 7m % faw (x — 1), (x* — k) 1 OF oES € -
(A) -1 (B) 1

(€) 8 (D)-8

X1 + 2x% + k, is divisible by (x + 1}, the value
ofk?

AW+ 2xM + k, (x+ 1) O AYST ¥, Wk F AW
L —
(A) 1

(€) 2

If {x - a) is a factor of (x* - 3x%a + 2a’x + b}, then
the value of b is ?

A (x - a), (x* - 3x%a + 2a’x{+\b) T THEAES &,
9 b = HF A L ?

(A} O (B)2
() 1 (D) 4
If(x + 2} and (x= 1)/are the factors of (x* + 10x?

+ mx + n) ,then the value of m and n ?

7 (s 2) AR £ 1), (x* + 10x? + mx + n) FFEE
%,?ﬁfm @Tn%ﬂﬁ%—
(A} m=5, n=-3
(C)m=7 n==-18

Bim=17,n=-8
(Dym=23,n=-19

If (x!! +71Y is divided bv (x + 1), then the re-
mainder obtained is ?

T (%' + 1) F (x + 1) I T fvm s &, T
ITFA TN —

(A) 2 (B) O
{C 11 Dy 12
If (2% + 5x% — 4x — 6) is divided by (2x + 1), then

the remainder obtained is ?
Ifg 2x%3 + 5x% — 4x - 6 F 2x + 1 T fgunfea foren wman
ERGE kT

N 12
(a)-
(C)-3 (D) 6

When x* + bx®+10k is divided by (x?+2] the re-
mainder obtained is — 2x, then the value of of
k

x% + 5x? +10k &l (x2+2) ¥ fTaufea F1 W 7. 3w
— 2x SOIE, 99 k o WH BN —

(A) -2 (B) -1

(€)1 (D) 2

(B) 3
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147,

148.

149,

150.

151.

152.

Mother's i@ « FEMAHd

If (67" + 67) is divided by 68, the remainder
is:

o (67" + 67) i 68§ el feran sy A Froeker =
Bhfi—
(A1

(B) 67
(C) 63 (D) 66
When [1+[2+[3+4 ..c.occvae. +[100000 is divided
by 8 then the remainder will be?
L+[2+[3+ .o, +|LO0000 H 8 & UM 77 W
ST BT ?
(A) 2 (B) 3
(€)1 (D) 4
When [1+|2+|3+............ +[100000 is divided
by 12 then the remainder will be?
L2434 i, +[L0000Q H 12 =1 9FT &4 T
YT E 2
(A) 9 (B) 8
C)7 (D)6
When 8483 + 12 is divided by 84, the re-

mainder will be?

848315 + 12 F 84 T YFT 27 T SIHA ZFT 2
(A) 3 (B} 5

(€111 (D)2

Whed nmumber 10 +1102% 10% + 10 +
............. +10Mis divided by 6, the weinainder
will he?

108 #9102 + 10° +10%+ ...l +104 | 6 I 9T
T I IS B
(A) 4 (B) 2
(€) 5 (D) 1
Thesumof 4 +44 + 444 + ... up to
100 terms.
4+44+444 + .. % 100 TS T AT ERT
4[10(10™-1) 4[10{10-"-1)
[A) §|:79 —100:| (B) 9|: g —1
4 |10{10"°-1} o [10{10"-1)
€ &1 ?‘1} (D) a{f‘”’”

153.

154,

155.

156,

157.

158.

159.

When 252'%* + 244'3?{g divided by 10, the re-
mainder will be?
T 252126 + 244152 T 10 F AN S R I9HSA G 2

(A) 8 (B) 6
(C) 0 (D) 3
For any integral value of n, 3*" + 9n + 5 when

divided by 3 will leave the remainder?
n % foet quies /M % o 320 + 9n + 5+ 3 = fasnfsm
A 9T YIS W EF 7

(A) 1 (B) 2

(€ G D)5

Find the remainder whén 2%° is divided by 897
289 F 89 w1 I fEan T T e fern e 2

(A)1 (B) 2

(C) 87 (D) 88

Find thedemainder when 3 i§ divided by 50.
37 . .

= Bl o SR L

(A) 22 (B) 41

() 68 (D) 88

When (101 + 10100 + 10190+ .. ... +

1Q10000000000) ig divided by 7, then the remain-

der is?

[101{} + 101[]{} + 101[]{}[]+ .......... + 101[]{}[]{}[]{}[]{}[]{}) ﬁ: 7
T IR T AT THA 19 B

(A) 1 (B) 5

(C) 2 (D)3

When (9%+1) is divided by 8, the remainder will
be?

(93+1) H 8 ¥ 911 34 W WG 9INHE I A |

(A) 3 (B) 2

(€)1 (D) 4

When (7'+2) is divided by 6 then remainder
will he?

(719+2) 1 6 ¥ N 7 9, SIS §1AT -

(A) 5 (B) 3

(€) 2 (D) 1

HEAD OFFICE : J-7, Himmat Nagar, In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
0141-2711689, +91-7073%909991 | www.motherseducationhub.org



160.

161.

162.

163.

164,

165.

166.
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When (43 + 23™) is divided by 66, then the
remainder will be?

(4310 + 2319 F 66 | 7T T R W T T HH |
(A) 1 (B) 2

(C) 3 (D) O

When (3)!** is divided by 7, then the remain-
der will be?

(3)19% | 7 9T T VR T YRS T A

(A) 4 (B) &

(€) 5 (D)3

When (25)% is divided by 24, then the remain-
der will be?

(25)26 | 24 F 9FT G T AT AAES A4 h |

(A) 23 (B) 4

(€)1 (D)3

What is the remainder when @1 + 92 + 93 +, .
+ 9% ig divided by 67
9 + G2+ 9%+ + 0% ¥ 6 T YA fEen W g W

TR fehaaT BhT 2

(A) 3 (B)2

(€0 D)5

What ig the remainder when 10444 1047 »

1050 x 1053 is divided by 337
1044 x 1047481050 x 1058 =1 33 "en fomsa

H T Tl ZISel feheT B 2

{A) 3 (B) 27

(C) 30 (D) 18

Find the volume of the following expression.
1-2-3+2-3-4+......... + 100 terms
Frefetaa =1 AR En ity —
1-2-3+2-3-4+_........ + 100 95 9=

{A) - 626 (B) — 622

{C) - 624 (D) — 628

Find the number of terms in between 300 and

600, which are divisible by 4 ?
300 ¥ 600 % == 4 ¥ fawifad 5o vdf # 9@ 99
Hitay ?
(A) 72
(C) 80

(B) 74
D) 76

167.

168.

169.

170.

171.

S|
Find the value of 25[5*5*;* --------- =

Trefafaa &1 am 919 #ifa ?

i1
053 T T ]
{A) 5 (B) 25
{C) 125 D) 5
Find the sum of n terms of the following ex-
pression.
8+88+888+ ... ?

frefafiEa 9 3 n 951 %1 IR T HIfAT 8 + 88 +
888 + ........ ?

8(10r £10 —9n)
81
(D)8 (10"*' - 10)

8(10" -9")
81
(€} 8 (10"-' - 10)

(A) (B)

A ball is droped from ‘a height 500 metre. ev-
erytime balliis'bounced Back up to the height
4 /5th af previous height, fill the ball stopped,
how much distance is covered by the ball ?
T 715 %l 500 He &= | 7= e’ 9 el S g, e
Heder S04 /5 T fa=d 321 & 9Ual i o 3 Sl
(A) 4500 m/ . (B) 4000 m/ T,

(C) 4800 m/ H, (D) 5000 m/ .

A boll is droped from a height 600 metre. Every
time the ball is bouneed up to the height 2/3th
of the previous height. till the ball stopped, how

much distance is covered by ball ?

TF 78 F 600 HieX T § 4 Sl | e = g Y
TF AR 2/ 3 T Tasel 39T % SIek ki o1 5 Il
T, 1 g wehe qoh ot Toher! G T AT ?

(A) 3500 m/ Tt. (B) 3000 m/ T,

(C) 2500 m/ . (D) 4000 m/ ¥,

A side of a square is 16 cm. A new square is
formed by joining the midpoints of sides, again
a new square is formed by joining the mid-
points of the new square and this process goes
on till infiity. Find the total area of such square

formed ?
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172,

173.

174,

175.

Mother's i@ « FEMAHd

ek o1 ki YT 16 ©HI. § a2 = & YAl & 9+ oig =l
TR &T=Td = @1 97T €, df 59 YR o1 Yok o
1 FA &IATC HI AR F1G L ?

(A) 256 cm?/ ®FI2  (B) 128 cm?/ ¥Ht.2

(C) 512 cm?/ W2 (D) 1024 cm?/ %#H.2

The sides of a right angled triangle are 6, 8
and 10 cm. A new triangle is formed by join-
ing the mid-points of this triangle, again a new
triangle is formed by joining the mid. points of
the new triangle and this process goes on till
infinity. Find the total area of such triangle

tormed.
HAFIT A T 0 FAM: 6, 8 T 10 WL ETHA®
T % 72 Tig T THE UF T A FAR AW/ E qA
=g YA AT o) SedE STAr 8, 9 36 YR a9 A
A SR T 6 |
(A) 64 cm?/ Tt

(C) 32 cm?2/ .2

(B) 128 cm?/ |12
(D) 16 cm?/ ¥H1.2

Find the sum of n terms of the following se-
ries.

Frfafaa 4ot & n 9&l 1 AR Jm 12

11+ 103+ 1005+ .........

(A) %(10”+])+n2 (]3)%(10“—1]+n2

) %(]0“ +1)+n | (D) %(10” —i)+n

A man gets| ¥ 60 in first'week. and after that.
evervweek, he gets| I 3'more than previcus
week. then how much money will he get on

20th week?

T ST G T § T 60 W T § i SH 96
Yo TE 3 3 et 9w ¥ sities v e §, 9 aw
209 HWIE T Fel (o1 AT {0 ?

(A)T 1770 (B) T 1620

(C) T 1890 (D) T 1790

A boy charges rupee 1 for first day, rupee 2 for
second day and rupee 4 for third and so on, If
boy starts work on 1st feb and completed it on

20th feb, then how much amount he get ?

176.

177.

178,

we e el #H Frwe w e e 1 g e
2 A fgA % 4 ... 381 A ol €, a1 1% =l Fed
T T S| w9t g 1 wE | R R FHa
TR 20 AL Tl T THE L 1 & ?

(A) 220 (B) 22 -1

(€ 2%-1 (D) 2"

A new triangle is formed by joining the mid-
points of an equilateral triangle. Again a new
triangle is formed by using the mid-points of
this triangle. this process goes on till infinity.
If the side of the big equilateral triangle is 24
units, find the total perimeter of such triangle
formed ?

THARG A oh 1311 % Healag enl feL U T4 A g9/
S € A AT WA o0 Gl S e, T 36 TR
o A 1 el HT TR Y A SRR 1 e =
M 24 3% B 7?

(A) 288 THE (B) 72 T%T%
(C) 36 T (D) 144 =9
1 s ) l.a I
| 5 €SI
equal to —

ol

BTN
T Xx3 = [X'O] , the value of x ;

ﬂﬁij= XEJ,HEIXEHW%:
4 3 2
Wy By €5 O3
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1 1
179. If x2 = y*» = z°and y? = zx, theng t e is equal
to -
afg xa = Z° IRy =zx, T — + — HHAAR —
() c A B 775~
1. 1.2 1,1_2
() c b ()c a b
180. Th 1 f 1 + 1
. The value o T —— 1+x +x°°
1 .
p— i
l+xC +x7° >
1 1 1
1+x"% +x*  14+x"P+x*"  14+x* +x"°
FAAE —
(A) 1
€)3
181. If25=4v =8 and xyz =
2
2x
2x=45
I 19 F -
A) = ; O~ O~
(A) 5 ; O O3
1. 1.1
182. If 2 = 3Y = 672, then the value of X'y z~
1,11 "
A 2¥ =37 =677, T y 7 IR -
(A)-1 (B)O
()1 (D) 2

183. The value of

184.

187.

4" x20™ x12™ ™ x15™
16111 N 52m+n X 9m—1

is —

Ao D0 10 1572

16111 X52m+n Xgm-—l aﬂ‘qﬁ% -
1 1
(A) 50 B) 550 (© 100 (D) 5
The value of
1/4
(0.3)"°. (27] (9)" .(0.81)"
is /R ARE —

0o o (1] e

(B) 0.0

J2 Va4 -3, V5 - V4,2 -1

(A) (V2-41)>(V3-42) >(V4-3) >(V5 -4

(B) (3-43)>(3-1)>(Ja-3)> (V5 -V4)

(©) (V5-v4)>(Va4-V3)>(V3-v2)>(V3-2)

(D) None of these /379 ¥ =g &I

Arrange in ascending order —

= =it 9ed g e H oraftem w —

V8 +5:v6 +475 9 +4, V11 +42, V10 +3
(B) VB + 5 < V6 * V7 < B + V4 < i1 *
V2 < 1o + 3

(B) VI1 *V2<J10*V3<J9+J4< J8 + 5
<J6 + 7

(©) VIT + V2 < VIO + V3 < /o + VA< B *
J5 <6+ V7

(D) None of these / 378 ¥ &1g &1
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188. Arrange in descending order — 193 \/7 \/7 - th hich of th
L v ey T AT ST = , then which of the
=T =l Hed BU Y H oHaead o — Y VAT
— — — following is t ?
JB =5, 6 -7, G- &, VI1-42, V10 -3 OHOWIG 18 e
W VTI=V2 V103>V ~/A>\8~V5> VB=VT YT AT AT e, T W -
(B) 67103746~ a> y5-5>\11-V2 P
(€) V10-3>J8-/5>y11-V12>Jo-J4>/6-7 (A)y=3 B)3<v<3.5
(D) None of these/ 378 ¥ %18 &0 C)y=7 (D) 4 A=
189, Arrange in descenging order —
=7 i w2d %9 | =rafted & —
Q350 5200 4300 4250 194. If y = JlQ +\/12+ N2+ e ,then y =72
(A) 425(] = 33[)(] = 52[J¢]> 235(]
(B) 2950 > 5200 5 33005 4250 ‘qﬁy:\/]g_,_\/]g_,_m,ﬁﬁ Y=
[C] 3300 = 5200 = 4250) 2350
(D) None of these/ 378 ¥ ®E &l (A) 3
(B] 12
190. Arrange in descending order — (C) 4
51 ol w2 o W orafted o — (D) None of theSe/ 8§75 © =15 11
Q/gr UZ: E\’/gr I‘Uﬁ
(A) 4‘:> 3%> 12]‘2 S 6% 195. dfay = \/g_Ag_ oL = , then which of the

1 |

(B) 3-’Ii VSR L I 12112

[C] 121]2 > 6:‘ > 4% > 3.’Ii

e = A 3
(D) None of these/ 3#H.H 15 T2, Tl 6.7
Ay=3 (B)2.5<y<3
Cy=9 (D) 4 5 =

1 1
e e
191. Ifx 5_oJ6 , the value of 18,7

1 1 196. If y = 42 - 42— Ja2.... = theny=?
- . — == . - ?
afg x 5_% .'—6,?|TX_%'—|I|'F‘|3‘H?I_=|$(.

(A) 5276 (B) 5- 2.6 y = VA2
{7
(C) 3+23 e
(D) None of these/ 378 ¥ ®IE T&! (A) 7 (B) &
(€)5 (D) 8
J5-2.

192. The value of J54+2 8 197. = 5¢5J5....... - , then value of is ?
@‘%‘IW%— ¥ =5y5y5......00 » A TG FL?
J5+2
(A) 9- 45 (B) 9+45 (A) 4 (B) g2e=
(C) 5+242 (C) 5
(D) None of these/ 95 9 FiE A& (D) None of these / TAH | ®E 8l
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198. If y = \Ja\Jaya/a » Then value of y ?
RIS y =yaya ava » Ty o HIH 16 e ?

15

(A) 416 (B) 1
(©) D) 7
199. The value of | [-6 (@)g ] x { [‘“‘ (1/5_3){ ]
is —
12[b(@)8] % ‘\?j*‘('}Sq)GJ I I FH 7
{A) 5949 (B) 5“'):j
(C) 5% (D) 5%

200.

The value of \/24}4 2 4

\/QJT ....... oo ToREeR SR 80T —
(B] 2
(C) -\E (D) .2

201. Square root of43 — 4./3 is ?

13 — 4./3 HT =1 91 HL7

(A) V12 +1 B) 23+7
(€) V12 -1 D) 2.3-7

202, Square root of 139 — 80318 ?

139 — 80+/3 1 TIHT R L ?
(A) 53 +8 (B) 53-8
(C) 543 +12 (D) 53 -12

203. It is given that (2** + 1} is completely divisible by a
number. That number will certainly divide which of
the following numbers?

7% faar T g fE (22 + 1) et Sem & o fasfaa g
&\ 341 W g fefafea semst | § Sie sen fivem
Lk i G ERI E Gt

(A)2% +1 (By7 = 2%
{G2w-1 (D)2%+1
3 V1+x V1-x
204. [fx= £ , then value of
2 1+v1l+x 1-+1-x
is ?
drxs W3 g, X LE
T2 T ieflex 1AVl
Eo®
(&) 2 (B} :
3 V3
J2 2

@ (B
205. |'he smallestvalue by which'63520 is substracted to

make ita perfectsquare?

T TN H BT T 198 63520 H ¥ T W T YO AT

I =, e T —

(Aylo (B) 20

()24 (D)30

+r 4

206. The value of {q\f@} {J’ V5 } is -

HE Y —

|:.|I'@ :|1 I::s @ :|I]

(A) 5° (B) 5

(C) 5° (D) 5+
207. The simplification of

[2+\F 2- f J3 -1
2-43 2+J_ J3+1

[2+\F2f\f1]\
2 V3 ae3 Bl RO -

B) 2+.3
D) 40 - V3

A) o-3
C) 16— V3

Study Center : Delhi (NCR) * Mukharjee Nagar
Jaipur » Gopalpura » Lalkothi » Jhotwarg = Mansarovar
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(12 —8)[3 <)
5++/24

is —

208. The value of \/

\/(\/E—\/g](\/ﬁﬂﬁ] N
5+\/2—4 HHHA T —

(A) V6 -2 (B) V6 +2

€ J6 -2 (D)2 - J6

209, V5 3V3 22 ]
\/_+‘\/_ ‘/—+\/— J_ 73 is equal to —

J5 3J3 232 N
B+vz B2 B3 e —

(A) O (B) 2415
(€) 2410 (D) 2./6

1 1 1 1
210'\/§+\/Z+ JZ+J§+ 5+ 76 +\/6+

1
i !
ﬁ+-\/§+-\/§+\/§l equal to 7

1 1
\/ﬁ J95 T Jog-Jos T 98 -o7

1 1
Jo7 o6 T 2\
(A) 10 (B) 9
(C) 13 (D) 11

212,

213.

216.

215.

{( -2)"~ J} is equal to ?

{(—2 ){_2]}(_2;]6'{'@'( & —

(A) 16 (B) 8
()-8 D) -1

3v2 26 23 it
Ve+v3 V3 +1 -J€+leequ ©

32 26 243
J6+v3 “ B4l Br2

()3 [E%
, then find t alue of

(€ 0 (D
.\/g,ﬂ?,a[ (X—"_xl—lJ FIHAE —

fx=1+ /2

V3 (B) 2+43
(C) 3+42 (D) 24/3 -1

If a, b are rational numbers and g+/2 + hy3

=Jog *+J108 - J48 — /72 . then the values

ofaand b are ?
+./108 — J48 - 72 TAFAM a AR b H AT T —

A)1,2 (B) 1,3
2,1 D) 2,3

Ifa/a =.@+ %/?+ _i»/@,then_
T Y = Y26 + Y7+ Y63, T -
(A) a < 720 ®ifFTa > 216

(Bja <216
(C)a=729 D)a=729

HEAD OFFICE : J-7. Himmat Nagar, In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
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Mother's Arithmetic « Number System

222, Value of /7.7 7\/7_

218, If (3x - 2y) : {(2x + 3v) = 5 ; 6 then the value of 223. Value of \/12_\/12 —J12- 12 -

(%J is — \/12_\/12_,!12_‘!12_ ............ = T E:
o (A) 3 (B) 4
(€j-2 (D) -3

Yx+3fy
(3x-2v): (2x+3y)=5:6TH W EZRED

- ' 5oq. 40-00002025 Y -
- 40.00005329 S QA0 SR
(A) == (B) 5 45 473 34 7
25 |22 o [l s
A yzs 1B 475 ©) V57 Dz

(D} 25

[#¥]

225, The value of \jz] +{/59+«"16+~3|"722+\/E is
21+{/S9+\316+{'/722+-\/ﬁ F1 A & —

219. If 110 = V112 + /343 fithen value @fn is?
7 110 = 112+ /348 @ n = fF 8,

(A) 4 B)S
(A)3 (By11 (C) 6 (D) 8
(C) 13 (D)7
226. 3332 534 +3/500 is equal to
220, If JX+2\,/X+2 o 2 fe 2000000 ve = X, 3'{/5—5'2/‘I+"\f‘500 a(ﬂ(%_
(A} s (B) 5424
Then value of x?
(©) 643 (D) 916
\/x+2\/x+2q.'x+21ix+2 ............ °°=X%.‘ﬁTX
72.9 ;
3 i f—
S — 227. {5 1006 |S €qual to/ TR T
(A) 4 (B) 3 (A) 0.5625 (B) 5.625
(C) 2 D) 1 (C) 182 (D) 13.6
221, Which is the correct statement ;- J80 =112 )
fr=afatea o S w981 & 228. The value J45 - J63 of is
(A) V2+5=+7 (B ¥2+527 3 3 1 7
W, ®L5 @ Ol

Q) V245 <7 D) V2+5>¢7

Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari n
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229,

230.

231.

232.

233.

234.

235.

Mother's i@ « FEMAHd

(\/ﬁ—\/ﬁ)— V12 s equal to :

(V72 =18} V12 e 3—

(A) V6 (B) J3/2

©) V23 (D) J6.:2
J104,04 + J1.0404 + J0.010404 1s equal to
J104.04 + J1.0404 +/0.010404 1 I SRIeR €—
(A) 0.306 (B) 0.0306

(C)11.122 (D) 11.322

Find the value of

H175.616 + Y0.175616 + 0.000175616

175616 +  H0.175616 +30.000175616 F1 HIT
R E—

(A) 0.168 (B) 62.16

(C)6.216 (D)6.116

If gév L2+ — 13"+, the value of x is

?q'ilq' 5\: + 12\-"; — 13\5 _Eﬁ, Fﬁ X Eh—f IH:I _E"-\lT“_

25
R (B) 4
€9 (D) 16

Find the value of 33\ ./128 +A/50 Upto, three
places of decimal (correct value)

J32 —«f128 £3/50 STHE = IE Al ST G T
F_

(A)L.732 (B)1.141
(C)1.414 (D) 1.44 1

The value of §/1372'% /1458 = 3/343 is equal to
31372 x 1438 = 3343 FIHH E—

(A) 18 (B) 15

(€)13 (D) 12

5
If /15 = 3.88, the value of \/; is

afs Jis = 3.88 &, @ \Ewnﬂw%?

(B) 1.2934
(D) 1.295

(A) 1203
(C) 1.29

236.

237,

238.

239.

240.

By assuming .13 = 3.605 (approximate)
J130 = 11.40 (approximate), find the value of
Y13 +4/1300 +J0.013 -

Tl HITAY T 13 = 3.605 (91) /139 =
11.40 (=T4) J1.3 41300 +J0.013 =R HIT 1

hifeTu—
(A) 36.164 (B) 37.304
(C) 36.304 (D) 37.164

How much greater 5.7 _2./5 from 3./7_4./57
3T —45 § 5725 fam afer & 7

(A) 5(v7+5) (B) J7+45
(©) 2(V7++5) (D) {2 485)

3 2 ]
Simplify (2+\/§ 2-3

2543
&
243 2-V3) ' Fifm
2-5J3
(A]%—s-ﬁ (B) 1
€ 2-5/3 (D) O

1
The value of 11+2430 - ————

11+2430 °
1
NIT+H2030 - —— v
J11+2+/30 I

(A) 245 (B) 246
(C) 1+J6 D) 1+4/5
Ifx=8+ 25, find Jﬁ%

Az x =8+ 315 &, ot -\/;Jr% 21 A BRT—

(A) 23 (B) 2.5
() %Jﬂ? (D) §+%\E

HEAD OFFICE : J-7, Himmat Nagar, In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
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241,

242,

243.

244.

245.

246.

Mother's Arithmetic « Number System

Which no, is the greatest number from the
following:

34, $N15, 16, and Y245

(A) ¥4 B) ¥
(C) s (D} ¥245
[\;gi\/jg + ‘/Ig__\/jg] simplifies/ 1 TS R ;
(A) J5+6 (B) 24/5+/6
€ s Ve (D) 25 346
V3T (V5-aY
The value of 5-0 + NEINA is equal to
S5+ [543 i
B-J3) By ) THTAMERT
(A) 64 (B) 62
(C) 66 (D) 68

The smallest no. in the fellowing is
=1 denstl § wed S S - g2
(0.5)%, V0.49,%/0.008 , 0.23

{A) (0.5) (B) 0.49
(C) o008 (D) 0.23

Arrange the following no. in aséending order
(2.89)%3, 2 - (0.5)4 J5%and 3pog , we get
(2.89)°%, 2 — (0.5)% /3 3R ¢fgog o AR A H
AT O TEH 9T F E—

(A) 2-1(0.5), /3, #o08,(2.89)"

(B) o008, (2.89)°%, J3,2-(0.5)?

(C) o008, V3,(2.89)°%, 2-(0.5)

(D) 35,3008, 2-(0.5)% (2.89)*7

Find the value of
I I 2

Jiz-Jia) [(s-eo) f{10++84)

247.

248,

249,

250.

251.

1 1 )
J(lz--M) \/(s_.\/@) \/(IUJ,_JQ] ®T A
3
(A) 0 (B) 1
(C) 2 (D) 3

The simplification of

3N 43

B+l Jo+2 2+ B30

32 43 J6 .
NS AN W Sl
(A) J6 B) 3
(€ 3 (D) 0

The square root of (3_\/5] is

(3-5) =1 iee & —
(A [ﬁ—-ﬂ B gh5-3)
(©) >{-4) o) 55(¥5-1)

\/_JE+J3+8\/7+4\/§ is equal to
\/_\/5+\33+8\/7+4\/§ 1 A E—

(A) 1 (B) 2
€3 (D)8

The value of (3+2-\5)_3 +(?:—2\/5)_j is equal to
(3+242) +(3-242) F R E—

(A) 189 (B) 180
(C) 108 (D) 198

Find the value of /g +2./32 —3/128 +4./50 , if
J2=14141s

V2 =1414 T8 (84232 3128 +450 F
HHA §—
(A) 8.484
(C) 8.426

(B) 8.526
(D} 8.876

Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari
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252,

253.

254.

255.

Mother's i@ « FEMAHd

The simplification of

256. If [32++72 =14.14 then J1g+J50+y98 +
{ 1 1 ] J1250 =
+ is equal to
V2+03-5 J2-3-45
V24V3-45 V2-V3-45 afe m+yTz=1414 T J18+ /30 + /08 +
{ 1 . 1 ] . 5 V1250 =
2435 J1-J3_5| FT W BT R (A) 45.45 (B) 56.56
s (C) 67.67 (D) 78.78
TR E—
A1 B) V2 gep Lo l, Ll 1 1 1
[C]L (D) 0 ©30 42 56 72 90 110
J2
(A) 2 (B) ! (€ > D) ©
fa= J§—yi,b= 7o' andc= g5 27 9 27 P 5s
then which answer is right?
Aea= g7 .b=T-V6 Me=6-5 | o (2 12 3)5 3] 1 _ 9,
~ . S 5, ) 3 5 7 0950
g1, at fr=fafea o & si9-w faemey gt § 7 : -
A)a>b>c (Bjla<b=<c 5 1001
Clb=ax>c Dja>c>b (A) 5o9 (B) 599
10051
G+t = o 0
[fa= \/— and b = NS then the value of 3
) (D) None of thése/ 75 ¥ E &l
a +abth |
= ., . .z 1B
i —abh+h 4 7 65 ]
259, Arrange 5876 in ascending order.
NERS B V51 al tab+b
-qﬁazwfg—l ajﬁb:\/gﬂ _@’ﬁaz—ab+bz izgﬁﬁh‘[dﬂ{l o Hera—
= Bl 0 o ST st
am 5876
1 T & —
L ET65 5674
[A)i (B)§ A 587% Bl 5785
4567 7654
©) 3 D) ) © 58738 D 3765
5 3
260, A 371 d di d
L X | L » Arrange —, o7 in descending order,
G+ Ja+s 5+ Je+vT T+ 3711
=913 STERIE] A H SAree Fife—
l — 3
Vo ERALI IR
A) /3 (B) 3.3 5°9°13 9°5°13
© 3 V3 (D) 5_43 173 1137
() 13’975 (D] 13’59
HEAD OFFICE : J-7, Himmat Nagar, In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
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261. Which of the following order of the fractions is
in descending form?

T 9 4 wed 0§ hia-dl fiml

g38n 7 57 811
(A) 9°15717°11 (B) 9’11'15°1
qlr758 117 85
(©) 17°11°9°15 ( )1 111579

262. The simplification of [‘Ui)2 {1—9[0.16)2}is

(0.17{1-9(0.16)"} et Fifiru—

A) - B) —
(A) T62 ®) Tos
7696 1

263.

2(n-1) 2

(€)

n B} (n)n-1)

265, Tf 1°+ 27+ 37+........ +x =

266.

268.

2 ()l +1)(2x+1)
6 »

then

+19°is equal to:

- +1)(2x+1) .
‘qﬁ 12+ 2 -+ 3 +. + ? = w E‘I‘, T.h‘
1P+ 3% 5+ ..., +19° == ER—
(A) 1330 (B) 2100
(C) 1485 (D) 2500
L7, 9 11 13

The value 5237 3242 4 6272

15 17 19
7282 8292 9210% °

(B) O

1

D) 3550

1.1 1 1 1 1

—+—— +— +— + 4+~ =7
3 15 35 63 99 143
A = B)
(&) T3 B) -
o8 oy 1L
(€ 13 D) <

Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari
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269.

271

272,

Mother's i@ « FEMAHd

Find the sum of first five terms in the se-
quence /Ffefed Soft § wem 9= w&i w1 A 9@
FIfeT—

111
+ Tt
Ix4  4x7 7x10
1 7 5 1
W3z B3 ©35 Do

is

(A) 30 (B) 40.5
(€)60.5 (D)121/2

5.42x6+5.42%24 ‘
32.71x32.71-27.29%27.29

The value of

6.54x6.54-3.46x3.46
3.08x5+3.08x45

is equal to

5.42x6+5.42%04 | 6.54x65428.46 <3.46
32.71x32.71-27.29x27.20  3.08~5+3.08x45

AT F—
(A) 0,3 (3) 0.4
€07 (D) 2.5

The salue of

1x3%9+2X6 X 18EBxOX 27+ .. 13
1x5%25+2%10x50+3x15%75+.__. 1

1x3%GF2x6X18+3XOx 2T+, 13
Ix5%2542x10750+3x15x75+... | 1 1
e FRTorE—
A 2 B) >
) 2 ) -
a2 Dj =
© D) 5

273. The simplification of

274.

275.

2760

2717.

278.

1.3%1.3%x1.3-
1.3x1.3+1.3+1

1
" 5

37
(€) 91

156.25+25+5="7

(A) 125
(C)0.125

1

2100 +?+84=1

(A) 28
(C) 24

1.3x1.3x1.3-1
1.3x1.3+1.3+1

R AR B9 E—

1
B) 15
o 27
Y

(B)l.25
(D) 12.5

(B) 25
(D) 22

[ 1.2.442.4.8+3.612%...... ]”3 o

1.3.9%2.6.184+3.927+....

ANs B) 2
(Al 5 B) 5

C 3 D 1
(© 5 D) ;

1+i+ 2{ + 23 2 +..=7

10 10* 10° 10*

(A) 1.12 (B)0.121
(€) 1.21 D) 112
Find the correct value upto 5 places of deci-

(A) 1.05
(C) 0.95239

(B) 0.95238
(D) 10.5
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279.

280.

281.

282.

283.

284.

Mother's Arithmetic « Number System

7 5
47,2506 = 4A + g +2C + B + 6E then the
value of BA+ 3B+6C+D + 3E is
- 7 5 -
Az 47.2506 =4A + B +2C + D +B6EAIS5A + 3B

+6C+ D+ 3ERAAE—

(A) 53.6003 (B) 53.603
(C) 153.6003 (D) 213.003
(3l
22 32 g2 i 107
5 1 11 7
(A) 75 B 5 ©5 O

1 1 1 1
1—+11—+111—+1111— | j
[ 5 5 5 QJ is equal fo

1 1 1 1
1—+11=+111=+1111= | wupeq &—
( S R 2} €
1
{A) 1236 (B) 12345
(€C) 618 (D) 617
The value ofg0.333 .....| x0.444. ] is
(0.333 .4 X0.444...) MARE—
(A) D.148148.., (B)O.777....
(C)0.1212..... D) 1.333...

. (0.064 — 0.008)(0.16 — 0.04)
Find the square root of (¢ 16, .98+ 0.04)0.4 + 0.2

(0.064 - 0.008)(0.16 - 0.04) ﬂ .
(0.16+0.08 + 0.04)(0.4 + 0.2 ¥ T =

2 1
@; B3 ©3 ®

ISTES

285.

286.

287.

288,

289,

290,

201.

The greatest number among 3°%, 4™, 5% and
620 is

3%, 4% 530 SR 620 T el wl G A g 2

(A) 41{} (B) 5."‘.0

(C) 620 (D) 350

The number which can be written in the form
ofn(n+ 1) (n+ 2), where n is a natural num-
ber is

Fen MHd HEAT B dIFI T FIn(n+ 1) m+2) 6

w9 Y forar s war ¢ ?

(A) 7 (B) 5

(€)3 (D)6
1+2+3+......... +49 +50+49 + 488, ....... +
3+ 2 +1isequal to.

1+2+3+ ... +49 +50/149 T 48,........ +
3ot 2+ 1 A E-

{A) 1250 (B) 2500

(C) 2525 (D} 5000

Which sequenee is in desending order;

=40 o - 8= R I T E 7

€ ¥, 32798

W5 580170 573'971179

L 2723 32978

{ )9’11’9‘3’5 ( 5'3'11'9°9

The value of (0.3468 + .1732) is.
(0.3468 +.1732) FHAREM?

(A)0.5201 (B) 0.51

(C) 0.5 (D)0.51
0.52525252......... is equal to
0.52525252......... TR ET 2

A 52 B 52 25 b 52
A 150 ® 59 © 55 ® 590

Ifa*b=a?+ b’ ab then find out the value of
(3% 2)-(6*5).
ﬂﬁ‘(a*b=a2+b2—ab%5l,?ﬁ[[3*2]—[6*5]]3|ﬂ

9 =41 BT ?
(A)— 24 (B) — 22
(C) 24 (D) 22

Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari E
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2a+3b
3a-2h°

N

292, [f then find the value of

w|

2a+3b
3a-2b

afz S=2 A 1 T A

w P

17 12 11 13
WS B, ©F OF

—

203, (11°+ 123+ 133+ ...... +30%) =7
(A} 231200 (B) 223100

(C) 213020 (D) 213200

294, The sum of digits of a two digit no. is 8. If the
digits are interchanged the new no. is 54 less
than the given nec. Find the number.

fowelt fgeimmg He & siol &1 am § &, 3fs il 3l
wfafia & fean < i s 54 =1 &9 & 9K § 19

e T e ?
(A) 71 (B)61
(C) 17 (D) 16

295, T < TE WA B wed a8 WA HiE g ?
Find the biggest number among the following &

0.9,0.9,0.09,0.09

(A) 0.09 (B) 0.09
© 09 (D)0.9
296, Whatis thed di d fﬂliio
. aris tThedescen 1I‘1g01‘ eTr o 17311315;9
117 85 |
e — T oTqUE W A
17501 w1579
A 11 7 /8§ 8 o 11 8 7 5
— - F—>— —s>——>>——=
(A 77 112915 B) 17 1571179
c 116877 =8 b 11 7 8 5
— > —>—— > — b »— >—
(]17911 15 D) 17717 159

0.2x0.2x0.2+0.3x0.3x0.3 |
0.4x0.4%0.4+0.6x0.6xX0.6

297. The value of

0.2x0.2x0.2+0.3x0.3%x0.3

Eakeiol H-
0.4%0.4x0.4+0.6x0.6x0.6 =
A) — B 1 C 1 D 1
(A) {B) 6 (€ 3 (D) 5

298,

299,

300.

301.

302,

303,

(2.644) —(2.356)°
15

The simplified value of 0.288

; 2 ey mmgi2
(2:644) ~(2.3561 o grefiapeor e @ Wi qfoomm

0.288

F—
(A)1 (B) 4
()5 (D)6

8(3.75)% +1
The value of [7.5)2 _65 18
8(3.75)° +1 5
(757 -6.5 0otET

9

(A) 2.75 B) 5
(C) 4.75 (D) 8.5

Ifip x q'= p+q+§, then find the value of 8 x 2.

G p x q= p+q+§%,a‘r8><2wm%—

(A)'6
(C) 14

(B) 1O
(D) 16

lfaAb=a-b-(-2){a &b > 0) then, find the
value of 4 A 3.

T ATE T Sipm € fF syl b SR b F o a
Ab=a-b-(2)¥ T4 A3FH IH E—

(A)1 (B) -1

(€)3 (D) -3

72519 x 9999 = ?
(A) 725117481
(C) 685126481

(D) None of these/ 19 9 e TEl

(B) 674217481

The value of 3.36-2.05+1.33 is equal to
336-205+1.33 W WA FH T I T—
(A) 2.60 (B) 2.61

(C) 2.64 (D) 2.64
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304. 275+3.78="? 1 1 1
1+ 4
(A) 1 B) 153 —2+i(3+i] w2 3 mamE—
103 ' 175 10) 7T 1
(C) 4.53 (D) 5.53 2 2 3
. 2 3 3 1
305. (6.5%6.5-45.5+3.5%3.5) is equal to () 5 B 5 (© 85 (D)3
(6.5%6.5-45.5+3.5%3.5) T & ? ) B B
(A) 10 (B) 9
(€7 D)6 311. [f x=1+ . find 2x+—=7
1+ -

1 :
306. 1+ —+—+—-+—+— ig equal to/ &L & ?

(A) 2.5 (B) 2
(€) 3 (D) 3.5

307. Which onc of the following is correct ?
fAddsR-mw=Ee?
(i) 13" > 31
{ii) 101 < 100"
{iii) 23 < 322
(A) (i) and (i) (B) (i) and (iii)
(C) (i) and (iii) (D) (Hyonly

1
=6 i
Zpi|
A &
{A)0.16 .6
(C) 16 (D) 0.016 A E B g o 5 DI 1
. @ a5, B3  (©5 O
300. [1+2+ YR+ +)2 +1R2 +1)2 +1)
=7 313. If * represents a no., find the value of *
i+ G4
{A)2 -1 B2 +1 .3 1 _
€ 264 D) 2|23 IHSIXSE 19
g * Wk HE ) Wieed KL g, 5§x3% =19
1 11 *
1+ : —+— .
4/2 3 * _
310, The value of f +—[—+—J of 2 3 ig— H " =1 E
1-1 78 10 1_1 (A) 7 (B) 4
2 2 3 )6 (D) 2
Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari
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315.

316.

317.

318,
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B_,
48
1 1
(A) ] (B) 1
3+ 2+ .
(1+ ]] I+
16
] 1
(€) 1 (D) 1
3+ 3+ 1
'I+]— 1+
I+l ”+]
8 !

Thevalueof 1 + [1+ 11 +1+{1+1<+2)}is
T+ +1=1+1=(1+1=+2) ] FIAAE—

5
(A) 1 (B)

1
(€) 2 (D) 5
Find the value of ! + 995’!ﬂ x 99

3 495

1+999ﬂx99 1 T 916 Fie—
5 495
(A) 20000 (B} 99000
(C) 90900 (D)99990
A mafi 'has some hens and cows. If the total

number of heads : total number ofifeét = 12 :
35, find outthe number of hens, ifthe num-
ber of heads aloneiis 48,

e W) & qeemn = 12 ¢ 35 €, 9 gt #t dWem 99
SHITSTH, e ol ol H & 48 & |

(A) 28 (B) 26

C) 24 (D) 22

The length of a road is one kilometre. The
number of plants required for plantation at a
gap of 20 metres on both sides of the road is:

T TS i ons 1 TRl ¥ 1| 9e® % T SIR 20 e R
AU § FERM & o fan oiel = aTasasar g 7
(A) 102 (B) 100
(€) 51 (D) 50

319.

320.

321.

1
In a school 10 of the boys are same in num-

1 5
ber as ZOf the girls and gof the girls are

1
same in number as 2 of the boys. The ratio of
the boys to the girls in that school is ;
o+ bty -~ - 1 - .
U T o TEH I e H ﬁmaﬁméﬁ

1. o o S) N
ZBHW%HQH eISshdl Shl HEAT =Rl 3 TIgeh] o1 HEA

]- LN o L) LN LR oY .
£ ) T T | TH T § 6S ad egrndl ol JEA

1 ATIE A ?

A)2:1 (B)5:2
(C)4:3 (D) 3:2
There are 50 boxes and 50 persons. Person 1

keeps 1 marble in every box, person 2 keeps 2
matbles in every 2nd box, person 3 keeps 3
marbles inevery third box. This process goes
or till person S50 keeps 50 marbles in the 50th
box. Find the total number of marbles kept in
the 50th box.

50 fesal a1 50 ot € | 9gon =af® g fess § 1 ween
WA &, O I e iR fes H 2 weer TEer € aen
dreR) =t g diet fees o 3 weert e & 3 34l e 50
of =16 72 50 § fesal # 50 weer Ta@en § 161 50 & o= ¥

e W I F 2

(A) 43 (B) 78

(C) 6 (D) 93

A man engaged a servant on the condition that

he would pay him ¥ 90 and a turban after ser-
vice of one year. He served only for nine
months and received the turban and an
amount of ¥ 65. The Price of turban is :

T = U AR N TH I W AR om # £ e e
IH 1 TR % AE T 90 T WS &7 | e Feet 9 WE
T A1 S T TE T 65 T WIS WH HIN E T T

e AR |
(A) T 25 (B) 18.75
(€T 10 (D) T2.50
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A school group charters three identical buses

4 1
and occupies 5 of the seat. Afterz of the pas-

sengers leave, the remaining passengers use
only two buses. The fraction of the seats on
the two buses, that are now occupied is:

0 T S A ey A # e i
éw%n%wﬁﬁ%aﬁaﬁ%mﬁﬂﬁmaaﬁ
THHA R T | ST 9H 5 B TS Hiel i 199 = s 7

8 7

s ®) 5

7 9
€15 D) 75

There are 2 teams A and B. If 3 people are
shifted from Team A to Team B, then Team B
has thrice the number of members than Team
A. If 2 people are shifted from Team B to Team
A, then Team B has double the number of
members than Team A. How many members
does team B have originally ?

UTAARBY I AR 3ATATAIABH A0 A ST B
T % HEE] ] WA gel A § 3 I 81 Sl § 197 2 @i
HITA B ¥ TA A H A 91 8, §1 < B H g A HE T
TG B I E |5 B H Yo (o w5 8 7

(A) 15 (B) 18

(C) 42 (D) 45

If in al three-digit number the last two digits
places are interchanged, a newfnumber is
formedWshich is greater than the original
number by 45, What is the difference between
the last two digits of that number ?

I A i R § #ifam 1 i & e F ew
T oo 9, A Uk T8 e adl &, S R g sew |
45 wAfern BR1 | 39 & & 3l |1 $iehl & S i F
Fm?
(A) 5 (B) 8 (€)6 (D)9

The rent of a guest house for first 3 days is ¥
50 per day, for next 5 days is I100 per day and
for further days is ¥300 per day. Initial regis-
tration Fee is I30.

If a guest paid T1300 in total then for how many

days he stayed in guest house?

326.

327,

328.

T wAfafy -8 T T8 3 f57 = e I50 wfafkd g,
el 5 fem =1 e 3 100 yfdfed & a9 39 =g =
e 300 wiafeA & sy § o g T50 ® 197

T Afafa 3 Fa T1300 w1 Y T 2, a9 o sifafy-

NERREGERCE Tl

(A) 7 (B) 8

(C) 8 (D) 10

Some friends decided to go on a picnic and

expected expense is assumed as T 768. Four
friends did not come for which each paid I16

extra. How many friends went for picnic?

Fg sl 7 ot m o = P fem aan s w3 768
@ w1 fafraa gam) 579 9 < s 09 & 9H S
FRU, T4 = T 16 AR S TSl & fwad 4
firpfa M 2

(&) 24 (B)16
{C) 12 (D) 8
In g.ericket mateh highest score in a innings

is /2 /9 of the total score and second highest
score 18 2 /9 of the rest score, If difference he-
tween highest afnd second highest scores is 8
runs. Then the total score is?

Uk (ke B B W KT Toifos T 1l Thit T TR
#1279 o1 X T FaR H T EH T I T F
2/9 =11 afg ST @RI | 8 T 1 ST o, T F ThR
Ty

(A) 160 (B) 172
(C) 180 (D) 162
A man distributes all his money among his

there sons such that he gives ¥ 7,500 to his

elder son, % part of his total money to his
second son and third son get sum of money
received by both first and second sons. Third
son gets how much money?

T Al 29 9 S 56 T wiedl & 4, o

—~

A R
. . 3

7,500 AT HEH 9 YA F {571 | 70 FoT qm 1™

FEA R I 1 T e qe o S e fean fee

TEel 9 TER o1 P T o | Fe B & 7 fyen 7

(A) T 30,000 (B) % 35,000

(C) T 18,750 (D) T 37,500
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The fare of a auto for first 30 km. is T8 per
km. for next 60 km, is ¥5 per km. and after for

1
every 5 km. fare is ¥8. Satish saves B

his total money after paying for 320 km. of jour-
ney. How much money he had in the start-

part of

ing?

TeF T W g9 30T, = e 38 wia faei. s
60 T, =1 Tt T5 ufd Tmdl, den 39er o1 =i 4 Al
ufq 5 fdt. =1 fruen T8 21 94w g/ 320 fodt =

. - 1
TR 37 % AE 39 T Fel 97 = AT 9N A=

IUF U IO | T fRa 6 o1 ?
(A) 1035 (B) 1135
(C) 1240 (D) 1320

In a straight line of bovs, atul finds that he
stands on 12 position from the right side and
on 4% position from the left side. How many
more bovs should be added to the line so the

total number of bovs becorne 28.

TIEHI Tl TF TE FHOR T TS ST T ToTdl feh 78
IH FAX H G ASH H g IR T e w1 129
oA R A AT SR Tl A I A A T | Rd
H wS ekl H TR i eigh wifaa el sd i
ST Far 1,28 T 31 Sl 7

(A) 12 (B) 13

C) 14 (D) 20

Inla fraction; when numeratorgincreases by 1
and denominator increases by 2, then the frac-

. 2 ,
tion becomes 3 But when numerator in-

creases by 3 and denominater inicreases by 1

5
then fragtion becomes e The original frac-
tion is?
i fopddi T % st 1 8 Q2 g ol 2 9 ag1 g 9y,
. 2 . R . .
ﬂTfWg%TﬁFﬁ%lEﬁFIWSTSTWSHW%TEﬁHH

AT fean =y, i = % B St & 1 g fr e ® 7

5 6
(B) 3 {€) = (D) =

332.

333.

334.

335.

In a class of 60 students each boy gives as
much money as the number of girls and each
girl gives as much money as the number of
hovs. If the total collection of money is T1600.

Then find the number of girls in the class?
60 TaefeEi =1 w wer & yoF oo A oo T 59
STt oTeferall ot WA oft e Wi orgent A 5 T
FTa! Tl ot e off 1 9 et Tohael Tl 11 59 T1600
T F W TSR WA TR E 2

(A) 30 (B) 25

(C) 50

(D) Insufficient data,; #i®s waaid g

From a book of 20 pages, one page has been
disappeared. The sumief rest pages numbers

is 195, Find numbers on Both&ides of left page.
20 TS FI U T il Hoh G AN S T T T
IS ST AnTpe), 195 ¥ | T T &l S

9w g
(A) 9,10 (B) 5,6
€] 11,12 (D) 7,8

3
In a exam afstudent is said to find 14 of a

3
number but by mistake he gets 1 of the num-

her, then obtained answer is 150 mare than
the right answer. The number is?

P N . 3
UF I H UF B &l Fhedt & 1 14 1 R % feg,

= 3 ~
FET o, A T S SH 7 Fepre TEon S4ep! IO 981
SWH 150 afvrer o1 < T Hewn -

(A)180 (B) 240
(C) 280 (D) 290
The price of 10 chairs is equal to that of 4

tables. The price of 15 chairs and 2 tables
together is T 4000. The total price of 12 chairs
and 3 tables is

10 FHE 1 Yo 4 TSl % Ted R aE § 115 B
31X 2 A 1 F TF 4,000 F T 112 FEE 8l 3

il 1 Fd Jod FNE ?
() 3,750 (B) T 3,840
(C) 3,500 (D) % 3,900
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5
A student is asked to find 16 of a no. By mis-

5
take he finds — of that no. His answer is 250
mare than the’n’ght answer, The no, is

o 5 -
e Tawnedt | Tt dem Eﬁrﬁamwaﬁmmnw
¥
. . . 5
T ﬁwwmwgmaﬂw | SEEHT IR TE

TR Y 250 HATHF o1 | & T TEw I Firaw—

(A) 300
(C) 450

(B) 480
(D) 500

Some friends planned to invest ¥ 108 on
eatables items at picnic. Three friends were
not reached at picnic spot. So the remaining
friends had to give ¥ 3 more in the contribu-
tion (part). How many friends were present at
the picnic?

TS Tl A TR WS @ uee W 108 % B
T Bl AT TS | 370§ < Tk g &)
& | TReTRaey Y9 Sd] H O T &1 o e 6
3 R &1 78| 99 =0 e o e Sraifet
e faaat oft ?
(A} 15

(€9

(B)112
(D)6

One fourth of'a tank haolds 135 litres ofsséater.
What part of the tank is full if\it contains 180
litres of water?

ﬁmﬁﬁ?ﬁ%ﬁi B T IHH 135 T qHT § 13l

THH 180 Sieg@ir 27, T S F1 fmamn am e = 9w
7

1 2
A man spends 1 of his income on food.g of

his income on house rent and the remaining
T 630 spends on other things. His house rent
is

340.

341.

342,

waﬁﬁaﬁmw%ﬂm@ﬁmgww%
e @ 2R I 9w S 5 630 T ¥ S gEdt

TS R T B ¢ | THH T R R E—
(A) T 5040 (B) ¥ 3520
(C) T 4890 (D) T 4458

3 i 1 2.
If 1 of the difference of 21 and 15 is sub-
1 2 .
tracted from 31 of 3 we get the result is

1 . 2. .3 12 .
2— 12 Fams = 3— 3h o
e 43$r{ 3 Eﬁ4'ﬂ1ﬂ‘=ﬁr 4%133%41171?[

W HZrE S, Al 9 9oy §—
48 43 83 83

{B) 5 (C) - (D) m

380 mangoes are distributed among 85 boys
and gitls. If each boy gets ¢ mangoes and each
girls\ gets B mangoes, Thow many boys are
there?

380 W 8 oSk S oig(whal | @ie W § foraht
Pl TS T | TAF TTgE F AR oW IR THH
et ! g 271 fierd ¥ | ST w wen §—

{A) 15 (B) 38
{C) 40 (D) 45
A train covers the distance 200 meters, 500

and 900 m in 1 min, 2 minutes and 3 min-
utes respectively. In how many time it
covers the distance of 2 km if it covers the
distance every minute in the same order?

TF TS W3E ° 1 e, 2 fiFe ofr 3 fae =g
SH: 200 T, 500 T, 3R 900 . & g 77wl
&, T fopre o9 918 9% W § 2 oL w1 gl
i, Afe Tk e o v W g aF & o1 %0

&l B 7

|
(B} 4= min.

(A) 4 minutes 2

1
{C) 5 min. (D) 55 min,
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8 persons met on an occasion. If they shook
hands with each other. One time, how many
times did the hands shake?

forel} 31 WX 2718 o wimfem gu | afe v 5w
TR T A, @ Fo S1dieE F ven 7= of ?
(A) 16 (B) 36

(C) 56 (D) 28

In a picnic party, every member contributed
double of the no. of party members. If the col-
lection was ¥ 3,042 the total numbers of mem-
bers in the party are ?

ot TipfTer 9161 o Tk weed A 301 o0 o g
T fou 5 ff 1 99 9 3R 59 TR Fd 3042
Y UH(FA T | 59 W H SUTLId HCw i e i —

(Aa)2 (B) 32
(C) 40 (D) 39
In a hasket the apples becames double of it-

self after each minute. [n 40 minutes the bas-
ket fill completely, then in how much time the
basket is filled 1/8 of the total?

Tk SN H TF ek (o2 o 918 o T 81 91 641 40
firfe & 90 9 W W It 2, @ e qEE g
Rl T 1/8 9T S ST & 7

(A) 35 minute {B) 36 minutes
(C) 37 minutes (D) 38 minutes

A boy wds asked to multiply a no. by 83, The
bov made a mistake by multiplv¥ing the no. by
35/instead of 53 and| got the answeril206 less
then the rightanswer. Theino to be multiplied
Wes o

Ueh Tleck o TohE! Gl ol 53 H [0 & & (AW g
T | e § B8 59 WA w35 | O w1 foo g
TH THR WA S Fal I H 1206 FHH 37| 0T
i ST Alell HeAr df—
(A) 62

(C) 74

(B) 67
(D) 76

In a classroomi, if & students per bench are
assigned to accommodate all students, one
more hench will be required. However, if 7 stu-
dents are accommodated per bench, there
would be space left for 5 students. What in the
number of student in the class?

348.

349,

350.

351.

T weT-He H U gy e o9 ¥ )1 of v
o9 W 6 fomnefl S8/ 9 &, 1 |l faanfeiEt #i s
T WIe 2H % Tog T ofR o9 i eTavamar et ¥
g afs wee a9 R 7 faenelf San o § < 9t
formferdi =1 s37 % ww 5 faenfeE &% fom se
T et | e § e T fomnedf 2

(A) 30 (B) 42

(C) 72 (D) none of these

3/4 of a tank is filled with water. If 30 liters of
water is subtracted to the tank, then it be-
comes empty. The capacity of the tank is

TRt S R 3/4 W AT W 9N g © 1 AR 3R 9
30 TiteX aHT e Sy, gt Eelt 81 St & | 261
i I §—
(A) 36 liters
(C] 40 liters

(B). 42 liters
(D) 38 liters

A pot which, is'full ef water, weight/is 28 Kg.
When the'potl/4 full, weight(is 19Kg. If the
pot is 2/3 full of water then the weight is

O 9 9K 2R Tk 91l $R 28 TR, €1 9@ 39 9
A /4 §FL T SRIEI €, 7 39 R 19 fE.
EI1 € | Al §9ep 2/3 777 %l I § W7 ST o SHeHRT
AL BH—

(A) 8 Kg. (B) 20 Kg
(C) 24 Kg (D) 18.6 Kg.
In an examination, a student got 150 marks

if he answered all the 75 question. He got
4 marks for each right answer and 2 marks
are deducted for watch wrong answer from his
score. Total right answer are

forslt adier o, ww Taendf 1 35 7% 98I S| =
o 4 3% feu < € a9 g 7o SR % foru 2
37 T2 Ty = € 1 =fs wes famnef = witen & wedt 75
T o ST RE BT a1 39 el THeTeT 150 e wd
U E, O 39 Toha WAl o "l SW feu ?

(A) 45 (B) 50
(C) 55 (D] 48
In a week, there are 5 working days and each

workers has to work 8 hours per day. A worker
gets T 2.40 per working and ¥ 3.20 per extra
hour. If he earned ¥ 432 in 4 weeks then how
many hour he worked?
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qoioh e H 5 o foad € 991 Yo M faaa 8
U< T ULl &, Teh TGt 1 2.40 T, Tfd 1 =0
qen AT =2 e W 3.20 9fd =ver e g,
o 9% 4 TE H T 432 T HAE, qA T FA
Temery =9 o fopepr 2
(A) 160

(C) 180

(B) 175
(D) 195

A person has divided his total money in his
will in such a way that half of it goes to his
wife, 2 /3['d of the remaining among his three
sons equally and the rest among his
four daughter equally. If each daughter gets I
20,000, how much money will each son get?

Tk oAt A ot et geafa st ot 3, 3
2 /3 YT 379 AT old] =] SRER-ae a9l 319 791
TR YT F1 FER-=ER 9 2, Afe wes IH w T
20,000 Tt 21, @ Yoie 9 &1 9/ fwan g ?

(A)Z 48,233.33 (B)Z 50,333.33
(C)¥53,333.33

(D) data is incomplete/ 3'-1%3_ e 1

In an office, 1/3 of total employvees are_ladies
and 1/2 ladies are margied and 1/8 matsied
ladies have children, If 3/4 of total males are
married and 2¢3 married males have children,
then howgmany workers have nol children?

TF FEierd ¥ 1/8 giedl FUER § N /2
Tfzer faenfed § 04 by 3 Taanfeq Afsenst & 9=
¥, 9fe 34z faefed @l aen 2/8 Toanfzd gei &

I B, T P HHEIE R (RAA AT F A TR E 7

5 4
A 15 B) 5

11 17
© Ig D) 3¢

A man covered distance 3.5 km from a place A

2
to B in which lg Km. distance was covered

1
by cycle, 16 Km. by scooter and the rest on

foot. How much part of total distance did he
cover on foot?

355.

356.

357.

358.

T o9 - T=H A9 B dh 3.5 Tl =l a1 # |

e 2 e o~ 1
=qH IEA 15 ferelt, g0 Hrsfenet g lgﬁmﬂ. Kl

et g1 Ad1 99 TSt 7 =T | Fel g4 1 FoRa T M
39 tee a forr ?

3 4
@ 15 ® 57

5 5
© ¢ 0 57

In a group of boys and dogs, the number of
heads is 7 and number of 1égs is 20. Hew many
boyvs and dogs are there respectively?

T I W P ISh 94 THibdl &, Alezpet Tadi i
HEAT 7 €1 T et P2 HBhEEAT 20 7, SHiehereieh
a2 foha i 8 2

(A) 2 boys, 3 dogs/ 2 T1em, 5 Tl

(B) 3Boys, 5 dogs/ 3 TSy 5 Tl

(@) 4 bovs, 3 dogs/ A'ciesh, 3 1

(D) 5 boys, 2 dogs/ S T=F, 2 F1

A man'read 2/5 of a book an one day and 1/3
mate than the first read on second day. If the
remained pages are 15 on third day then the
total pages in the book are

Torelt =t < ook eash 1 2/ 5 TR e fom vt | geR e
I T fer ¥ 173 aifee mr | iR T & few 15
TS 59 U | [T F Y R G T

(A} 100 (B) 105

{C) 225 (D} 230

A commeon factor of (137 + 117) and (13" + 117)
is

(137 + 117) o (135 + 115y 0H9. 41 I 7

(A) 24

(B) 13+11°

(

{

)
C) 132+11?
D) None of these/ 375 © = &l

Which of the following is a perfect square ?

e o A W el Rl 2
(A) 3497497 (B) 4587632
(C) 1046529 (D) 1034758
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360.

361.

362.

Mother's i@ « FEMAHd

1
[f ——==0.396, then the value of

25.25 0.0002525
will be
o ~ N 1 .
25.25 0396 e 0.0002525 FHE FAEN
(A) 3960 (B) 39600

(C) 0.0000396 (D) 0.000396

The numerator of a fracton is 3 less than its denomi-
nator. If 7 is added in the humerator and 2 is sub-
tracted from the denominator, the fraction becomes
2. Find the fraction.

frdi i e w AT RAdI FHE, afg w1 7
ae] faan <4 o BUhl 2 M L € 9E 1 2 U8 2l
e i de g ?

5 8
(A) 3 (B) 11
7 3
(€) 0 {D) 13

In a fraction the denominator is 2 more than 3 times
the numerator. If 1 is added in both numerater and
denominator, the fraction becomes 1/3. Whatis the
fraction.

Tord! TH=1 e =1 &3, 3431 < o1 0T | 2 &4 §
v e IE H 1 = fem s A 173 9 S e

o R T ] 1 & 2

A r B >
A 13 () 11
C 9 D 2
©) 13 () 11
In a two digit no. ten’s digit is 53 more than

unit digif. After subtracting 5 times the sum
of digits from the number, the digits are in-
terchanged. Find out the sum of both num-
bers.

T I ST AT WA W GEE AT TEE F SF Y5
a1feres % 1 3% =9 S oTR F 9ITHe 1 5 T S He |
T e R S A S W o 37 S B W § TegH oE
AT 3 37T ARTERS e & 2

(A) 9 (B)11

C)7 (4) 13

363.

364,

365.

366.

In a three digits number the hundred's digit
is double the units’ place and the sum of all
the digits is 18. After reversing the order of
the digits the new number is 396 less than
the given number. Then what is the difference
between digit on hundred’s place and ten’s
place ?

T ST AT TF e T RS & T e S TR 5
T I 31k 1 g1 SR ST wt SR o AT 18
T A THF 37 Tl SO TR0 90 A1 7% W 306 FAE
AT # TRTER SH e F e Al 7 $iR 5 Al $F
o1 S fpaT1 & 2

(A) 4 (B) 2
(C) & (D)3
The value of
.9991 + 999E + 999E + 999i + 9993 + 9992
7 7 7 7 7 7
1 2 4 5
999_+999_+999§+999_+999_+999E EY|
7 7 7 7 7 7
T B B
(A) 5997 (B) 5979
(C] 5994 (D) 2997
913-5|-5|4]|+10
Find the value of

-3(5)-2x4+2

913-5|-5(4|+10 .
3(5)—2x4+2 A W FHIfT—

8 16

4
€~ D5

9
™y ®

The value of

S ) (] )

is equal to

1 1 1 1
1+ || 1+ 1+ 1+
(_ x][ x+1](_ x+2)( x+3_] w1 A

TE?

(A) 1+ Bjx +4

x+4

I x+4
(€) - (D)
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367. If 2a+ b =3 th I ¢ ¢+ h . 1t o sLial \"b 1:be -xc lice
A =3 e value of ——— is equal to 373. {x" ] x(f} X[an =9
N + . faulac
gt 2t 3y 5 4P o am (A) 1 (B) x'/
a+4b a+2b (C) xibmboen (D) None of these
(A) > (B) 2 (C) : (D) o
5 R O
368. How many digits are in the sguare root of 374. The value of (-Jg)_z -
11664007
1166400 % TRTHE B i F1 T T — . o
(a5 (B)3 (Vo) () .
T o | ®AAE—
(C) 6 (D) 4 (\/E_)Z ¥
360 S SRS B (A) 216 (B) 36
T J100-99  J99-98 o8 -./97 |
| . (C) 3 (D}(1296
- + =9
Vi-v2 V2t
()0 (B)9 3 \/ J
(C) 10 D) 11 4 fa-faia
(A) NI
X
370. If ¥0.014x0.14x = 0,014x|},14{/} then ; is 2
equal to V11 +1
(@
X
AE 2/0.01440. 14k = 0.014x0.l4{ﬁ 0l TN
S Il — 376. \/4—\/4+\/4—\/4+-4—
(A) 0.000196 (B) 0.00196
{C) 0.0196 (D) 0.196 A J21+1 o JI1+1
(A~ B 5 —
371. The descending order of /4,y2.43 and y5is J17 +1 J13 -1
. N (€) (D)
4,343 o 4 1 ST 5 B ) ’ ’
(A) Ya>¥5>2>4 B SB>8>485>42
(€C) V2>4B5¥=ys D) B> e
377. Find the value of [1—2(1—2) ] .
372. Jx 'y y ek =2 e
[1-20-2)" | 1 7 AR
(A) xyz (B) xz
1 Wr B @1 D
Ay = B) =2 )1 D) =
(C) oz D)1 3 ) 73 9
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378.

379.

380.

381,

382,

383.

Mother's i@ « FEMAHd

By what least number 1323 be multiplied to
obtain a number which is perfect cube?

1323 i T7T B 9§ Bl §E&@ § o0 fean 9w R

quj =9 5 MY ?

(A) 2 B)3

(C) 5 (D7

Write 0.0000007826 in scientific form.

0.0000007826 1 Tt B ¥ 9 o =1 v
%2
(A) 7.826%10"

-8
(C) 782.6x10" (D) 0 761

(D) 0.7826x10"

If n is a whole number greater than 1, then n?
(n*-1] is always divisible by :

Afe n UF gl e ¥, S 1 ¥ 5§, 9 n? (n-1) feas
Terfor gt 7
(A) 16

(C) 10

(B) 12
(D) 8

Baoth the left most and right most digits of a 99
digit number N are 2. N is divisible bv 11, then
all the middle digits are:

T 99 H It G2 N |, Jget 9 3TE i 2l 2.8
N, 11 % 3R fo9ra &, T8gaR o= % % RA#E e 2
(A) 1 (B) 2

(€) 3 (D) 4

Find the sum of all positive multiples of 3, less
than' 50

50/% F9 3 T XM OE] 190 T S 2
(A) 400 (B).404
(C) 468 {Dy412

Among the followirlg statements, the state-
ment which is not correct is :

Frefafan e § § %1 W %97 T8l T8l 8 7

(A) Every natural number is a real number/
T W Hed] UF aIsiiaF e €1

(B) Every real number is a rational number/
qedleh A ol S Uk YA HEA ¢ |

(C) Every integer is a rational number
edsh JUie ofiEs Hem ¥

(D] Every natural number is an integer
TR TR o AT Uah YOI € |

384.

385.

386.

387.

388,

389,

The digit at Hundred's place value of 17! is
17! H g o TIH T HA W &AFE?

(A) 1 (B) O
(C) 2 (D) 3
9 guest shake hands with each other, Then

total number of Handshakes will be?

=t frgae forelt el § uw-g @ vy foom €, o g

e =1y THEY T ?
(A) 72 (B) 81
(C) 72 (D) 36

A 6 digit number is formed by repeating 2 dig-
its for 3 times {ex. 282828, 131313). This num-
ber will always be a multiple of?

ek 75; 3ieh aTell HEAT Uah Bl &ioh] el HEAT &l diF o)
TEUH (e. g 282828, 13181) 7% 78 & Ui wWen
weg Fefarea =1 7o 2|

(A) 10101 (B) 17001

(C) 101010 (D) 11100

In the expansion of (6)'¢ x (7)™ (5)7 = (11)2L,
numbers of primeinumbers are?

B)° = (FUT x (B)®\ % (11)'2 = fomr & s19mA
g prepE ke i nke

(A) 213 (B) 222
(C) 211 (D) 214
A student is asked to multiply a number by

11 11

E' By mistake, he divides the number by E

and get result 1224 more. Find the number?

L - 11 LY =
@mﬂﬁﬂﬂ@ﬂﬁgﬂwwaﬁmwwﬁ

Ffeaw =4 T = %ﬁw&ﬁmﬁmﬁrﬂtﬁﬁaﬁmﬂ
¥ 1224 afa e fowen | < 6 den FE-s g 2

(A) 253 (B) 506

(C) 759 (D) 1012

1 1
In a school, 5 part of girls and 3 part of boys

join a camp. Which part of total students joins
the camp?

e faener ffé TRT TSR 'ﬁaﬂé AT el U fafer

oI TR ¥ | et farenferat wmn e v SR F e E
13 13 2

(A) o B) 5 © 13

(D) Can't be determine/ S & f&an =1 TaFal
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393.
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How many natural numbers below 660 are di-
vigsible by 5 and 11 but not by 3?

660 F T Tera! Tpa & 5 & 11 9 famfsd St

< <ife 3 T w1

(A) 8 (B)9

(C) 10 (D) 11

(x" — a") is completely divisible by (x - a) is

(x7 — a”) IUa: (x — a) ¥ fawfsa gm =k -

{A) n is an even natural number/ n T 99 Tk
HEAE |

{(B) n is an odd natural number/ n T faaa wrFa
HEnE |

(C) n is a natural number,/ n TF WA T T |
(D) n is a prime,/ n U&F JVEA & ¥ |

How many numbers between 300 and 785 are
exactly divisible by 137

300 R 785 ¥F 9 fFae &% 13 ¥ wui: fowfem g
B

{A)} 39
(C) 41
{D) None of these/FﬂEf = T3

(B) 40

Find the smallest primeg number gf three dig-
its.

(A) 103 (B) 107

(C) 109

(D) None,of these /3_'|'Ef T e e

1,11
3 3 3 1 o geiigawm i
1. 1_1 9
W —
3 33
(A} O B 1
! !
© 5 D)

395. The value of 999%)(999 is

99978 999 T T F—
999
(A) 990809 (B) 998996
(C) 999824 (D) 998999
396. 016 =?
A L& g 1o o —
A 59 B 50 (© 75

(D) None of these/gTH ¥ hig el

397, 243+3.62+318=2

{A) 8.24 (B} ©.24
{C) 8.23

{D) Nomne of thiese/ S q &Is g1

3981 2,61 +9.24+10.63 =7
{A)22.48 (B) 21.48

(C) 22.48
{D) None of these/sTH ¥ =I5 g1

399. 0 576 = ?

A 576 B 571
() 999 (B) 999
571 D 571
990 ©) 200

400, 3.0072 =7

A 209772 - 29772
(A) 9900 9999
c 29772
(©) 9990

(D) None of these/gTH ¥ HIE &

Study Center : Delhi (NCR) * Mukharjee Nagar = Uttam Nagar « Alwar » Rewari
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Answer Key | Number System

1. B 2. (C) 3. (A) 4. (C) 5. (C) 201. (C) 202. (B) 203. [(A) 204. B) 205.
6. (D) 7. (A) 8 (B 9. (B) 10. (D) 206. (B) 207. (C) 208. (C) 209. (A) 210.
11. (B) 12. (D) 13. (A) 14 (C) 15. (O) 211. (D) 212. (A) 213. (C) 214. (A) 215
16. (C) 17. (D) 18. (C) 19. (B) 20. (A) 216. (A) 217. (A) 218. (D) 219. (D) 220.
21, (A) 22, (C) 23. (B) 24, (C) 25. (B) 221, (D) 222, (A) 223. (A) 224. (A) 225,
26. (D) 27. (D) 28. (A) 29.(C} 30. (A) 226. (C) 227. (B) 228. (C) 229. (D) 230.
31. (D) 32. (B) 33. (C) 34.(B) 35 (B 231. (C) 232. (B) 233. (C) 234. (A) 235.
36. (A) 37. (A) 38 (C) 39.(A) 40. (A) 236. (B) 237. (C) 238. (B) 239 (A) 240.
41. (A) 42. (B} 43. (B) 44. (D) 45. (D) 241. (A] 242. (C) 243. (B) 244. (C) 245.
46, (B) 47. (B) 48, (B) 49, (C) 50. (A) 246. (A) 247. (D) 248. (D) 249. (B) 250
51. (C) 52. (A} 53. {A) 54.(C} 55. (A) 251 (A) 252, (C) 233. (BjE254. (B]_255.
56. (D) 57. (B} 58 {(A) 59. (B) 60. (A) 256. (B) 257. (D) 258. (C)T 2594(C)y1260.
61. (B) 62. (B) 63. (B) 64. (A) 65 (A) 261. (C) 262. (B) 263. (C) 1264 [B] 265.
66. (A) 67. (B) 68 (B) 69.(D) 70. (B 266. (B) 267. (A) 268, (A} 269.9C) 2%0.
71, B) 72. {C) 73. {A) 74 (B) 75 (B) 271 (D) 272, (C) 273.(A) 274. (B) 275,
76. (A) 77. (C) 78. (A) 79.(B) 80. (C) 276. (B) 2774(A) 278, (B] 279.((C)g280.
81. (D) 82. (D] 83. (D) &4 (D) 85 (C) 281. (A] 2824 (A) 2837 (C) 284. (B) 285.
86. (C) 87. (D] 88. (C) 8&9. {A) 90. (A) 236 4(D)\ 287, (B) 288.1(C) 289. (A) 290.
91. (C) 92. (B) 93. (C) 94.(B) 95. 4D) 291. (A) 292 (B) 293. (D) 294. (A) 295.
96. (C) 97. (C) 98. (A) 99, (D) 100. |(A) 296. (A) 297 (A} 298. (C) 299. (D) 300,
101. (B) 102. (A) 103. () 104. {A) 1054 (D) 301 (C) 302, (A} 303. (D) 304. (C) 305.
106. (A) 107. {C) 108. (B} 109. (&) 110, (C) 306..B) 307. (D) 308. (A) 309. (C) 310.
111. (B) 112. (A) 113. {A). 114./(B) 115.\ (C) 31EHC) 312, (D) 313. (A) 314. (D) 315.
116. (D) 117.4(A) 118 D) \ 119/ (B) 120. (B) 316. (B) 317. (B) 318. (A) 319. (B) 320.
121, (B) 222, {C)) 123, {A) 1124.1(C), 123. (B) 321, (C) 322, (D) 323. (C) 324, (A) 325,
126. (A)£127. @) 128. (D). 129. B) 180. (C) 326. (C) 327. [D} 328. (C) 329. (B) 330.
131. (A)L 132, (Bl 188, (C) | 184.4A) 135. (A) 331. (C) 332. (D) 333. (D) 334. (C) 335.
136. (D) \187. (A) 138, (C) 1139.(C) 140. (B) 336. (B] 337. (C) 338. (C) 339. (A) 340.
141. (A) 142. (A} 143°(C) '144. (B) 145. (C) 341. (D) 342. (C) 343. (D) 344. (D) 345.
146, (C) 147, (D) 148, (C) 149, (A) 150. (C) 346. (B) 347. (C) 348. (C) 349.(C) 350,
151. B) 152.aA) 153. (C) 154. (B) 155. (B) 351. (B) 352. (€} 333. (C) 354. B) 335,
156. (B) 157.°(B) 158. (B) 159. (B) 160. (D) 356. (C) 357. (A) 358. (C) 339. (B) 360.
161. (B) 162. (C) 163. (C) 164. (C) 165. (A) 361. (B) 362. (A) 363. (B) 364. (A) 365.
166. (B) 167. (A) 168. (B) 169. (A) 170. (B) 366. (D) 367. (D) 368. (D) 369. (D) 370.
171, (C) 172, {C) 173. (B) 174, (A) 175. (B) 371, {A) 372, (D) 373. (A) 374. (A) 375,
176. (D) 177. (A) 178. (B) 179. (C) 180. (A) 376. (D) 377. (A} 378. (D) 379. (A) 380.
181. (A) 182. (B) 183. (B) 184. (C) 185. (C) 381. (D) 382. (C) 383. (B) 384. (B) 385.
186. (A) 187. (C) 188. (A) 189. (A) 190. (B) 386. (A) 387. (A) 388. (C) 389. (C) 390.
191. (B) 192. (A) 193. (B) 194. (C) 195. (B) 391. (C) 392. (D) 393. (D) 394. (A) 395.
196, (B) 197. (C) 198, (B) 199, (A) 200. (B) 396. (A) 397. (B) 398. (A) 399. (C) 400,
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40 g/f? Mother's New

Practice & Previous
Year Solved Paper

Includes

SSC CGL, 2012-17 (PRE) 2 : -

SSC CHSL, 2012-17 (PRE) Practice Set
SSC CPO, 2016 (PRE)

Books available at the nearest Book store

for more detail : 91-7340027656
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CGL, CPO, 10+2/CHSL,
Stenographer, MTS

IBPS (PO,Clerk),
IBPS RRB, SBI PO, RBI

That Suits You...

Asst Loco Pilot &
Technician, Group ‘D',

| Programme feature ey ONLINE/OFFLINE TEST SERIES

* Highly Experienced & Well qualified Faculty.
* Complete New study Material (English & Hindi Medium)
* Problem Solving Sessions up to Selection 5th ranK in Girls 1st rRankin Rajasthan

« Library Facility available Ritu Nehra Rahvul Sharma
A 2201051395 7204719231
¥ AIR-5 AIR-13

* Computer LAB Facllity available
Sl in Delhi Police AAQ in CAG

* Up to Mains Level
* Speed Test twice a week (Online & Offline)

NewBatch Monday/ Friday = M.THER{S

,@omputer LAB

EVERY

Total No. of Selections
SSC CGL 2016 : BANK (PO/Clerk) 2016 Special Batches available for

700 338+ MATHS | ENGLISH | G.K & G.S.

HEAD OFFICE : GOPALPURA BRANCH—

J-7, Himmat Nagar, In front of BIG Bazar, Near Kanha Sweets, Gopalpura Pulla, Jalpur-302018 (Raj)
0 S Faor more details contact : 0141-2711689, 7073909991
® Study Center : JAIPUR | ALWAR | JODHPUR | BIKANER | UDAIPUR | DELHI | REWARI
E({H(‘&!wﬂ ?{“5 www.motherseducationhub.org * www.fb.com/motherforssc/ = E-mail : motherseducationhub@gmail com




